waA s, [R»

A
. Yed suaell s A2Alldd .
AH, A, Gl 1AL U3 A3 1A slAY—%rdLe
dllu : ¢ jooRORY AU so (AfAe $4.918L 1 100

=

=

allaR salf (a0/—3) walds ulRal

UAS Ul GaR A, B, C 27 D A4 165 315 ® 17 GALAUR A el 20Ul L Hidldl €ld dl ddsl 12 Rsey
E Garwotdii x4 9.

UAS AR gL €8, viel 13 FAEls dal Dsols dadl vl wglell s sl ag Qsey salda raegls
0.25 3USHA AR S1uUMl 2Ual. UTg %1 GREAR A6l UYL HidldL L i1 A [Aseu E 315 54 ol 0.25
98l sty 20aQ ],

A0de Rl Bl Yot (1A Ll A

(RuRnosastl il x 1 — {(vieL gaetll v x 0.25) + (vuell 9i3d el Aval x 0.25) + (D915 3 As
sl ag [Asey ealdd oauei vl x 0.25)} = GAgaRA Uk Adi 8L,

(1)

(2)

(3)

(4)

()

(6)

(7)

5 AUSA AR Y [2AHL 5 Km 2idR s1U 9, Rols d elEel [RaHi 12 km vidR s1U 9. 2L 01454 AR
539 @AUHIdR, yed sed, ?

(A) 17 km (B) 13 km (C) 7 km (D) a4

ofl 215 H[ReAledl AldHL (B YsAUR 5l 218 [Bau dddl AR ¢ly, dl d ML 19 L [Ba sul eid ?

(A) [ar (B) AR (C) saaR (D) YsaR

215 WRARHL 205 Y3n 24 dll U], duel 212 (2531 244 dul ucdlail 28 8. 835 [Bs1A 21 (2521 214
25 (2531 S, dl A4 F3o1HL Yo Ui+l vy ol

(A) 4 (B) 8 (C) 12 (D) 17

A 2isl yoror 9L Gu XIX arl 9. 217t dtl el G XXIV arl 8. dl du-l G-l aaial 3edl

2y ?

(A) XLIV (B) XXIV (C) XL (D) XLVI
Yoy [Asey wie s? vl ulyl. 2, A,9,.B,6,C, 13,D, .......

(A) 9 (B) 10 (C) 12 (D) 19

Qo : i’ el A8l urie s3U.

(A) doiza:@ssl  (B) aum: B (C) AR : ol (D) [gous : vl
A¥ GdR ds o w8l QollA uedl 5312l ol aollat s1ofl s QoL ol 8d dL 565 [Baumi ol ?

(A) GaR (B) yd (C) e&llal (D) uBan
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(8)

(9)

(10)

1)

(12)

(13)

(14)

(15)

(16)

(17)

(18)

(19)

(20)

(21)

(22)

N A

1AL AHSHL UL AoEAL A AL Bl U 9 7

(A) 262 (B) 24x X (C) 24V (D) 20S

ol 25 A191veL 0% 3R 9, dl o MM Sedl AR el ?

(A) 4 (B) 5 ©) 6 (D) 3

"W WAL YouaRl 4z A4l Avainl youaRl il 20d 8" HlA-uuidl 56 Aellui 240 Ry youd 9 ?
(A) BDHLR (B) EIMQV (C) MPRUX (D) FIMRX
{131 geeln SIS AR Ollsdl.

1) 2145 ) A 3) Riael %) AR

(A) 1,2,3,4 (B) 3,4,1,2 ©) 3,4,2,1 (D) 4,3,2,1
(1Al AHSHL UL A0eAL AR 2] el Ul 9 ?

(A) (8¢ U4 (B) *Hoduedld (C) uRious{l 14l (D) ®IRd 25 vy
515 v 5134 PAGE 4 3%7@ , SORE 4 8©9@ aviali »1d di d sisMi PEAS 34 qual ?
(A) 3@©8 (B) 3@%9 (C) 3% @8 (D) 3@%8

AUIIHI o1det w{12 583, " o1 sisReAl HL HIRL AU AL 1" Al 244 01U wiswIR 92 2l Aoiy 8l ?
(A) WH—H8lE ag  (B) sisi—ollo ag (C) 2wl oind) (D) »isuaL gl

L5 qolH AlaAl 51 200 14 ML 247 wiesnell 41 Hi 6. ol 24 a2ui Jeal [Qguelxl el ?

(A) 52 (B) 54 (C) 55 (D) 56

25 ASsed, WS U000 vl 14 Betllexd idR 51U 9 dl d ulsadl Usill Brosul Seal A Ay ?
(A) 90 (B) 34 (C) 19.v (D) 1¥o

AHIRL ALSAHL 6l d8 AaMl 012 €9 dl dlSHHl g 3edl lbdatl el ?

(A) 17 (B) 18 (C) 15 (D) 16

21 youari-l Sl 'ABCD.......... Z' 4i 2ifam youardl ol dzs 18 ui youa+ll smslongd viaHl

HOUER 5UL 69 7

(A) C (B) M (C) N (D) O
Yuled AMA dHIRL U39l 56 [Baumi ed ?
(A) Gd= (B) elaw (C) uBan (D) ud

15 »iiorve 1947 AL [2ad sl A1z ¢4l ?

(A) AMAR (B) *Hanar (C) ysarR (D) eadlR

HIRL SIS il Youedl Yol izl g 2 ?

(A) @l (B) ol (C) 5l (D) eusly

Bedlell uA 23:50 (Sesun 221w 215) sl Guid @A 8 sals uesl ds-ti B & UL, i beal
CIRUIRCH N

(A) 7:50 (B) 15:50 (C) 2:20 (D) 3:30
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(23)

(24)

(25)

(26)

(27)

(28)

(29)

(30)

(31)

(32)

(33)

(34)

(35)

(36)

N ~

A2ABodl®d. CAD AT . Al y{l D&, di B+l C 18 sul 2ivia 0.

(A) ucil (B) old+t (C) uall (D) 514l
AABABCABCDABCD............ Au(l el s21.

(A) A (B) F C) E (D) D
{13 20t 2108 oML sUL 0% oflogl o121 2l AL U B d gl ?

(A) deR (B) ldar (C) il (D) YAR

25 eIl A% s1ofl ouggell 12 HisH . Ry el ologell 19 MisH 9. ol 2l Hed—oled UL, dl

%9 310fl ouogell 21 MisH AL B dl SIRHL 4 3edl 915U ¢l ?

(A) 40 (B) 50 (C) 52 (D) 39

%11 =25 SUN=27¢ia, dCAT = ...............

(A) 24 (B) 27 (C) 57 (D) 38
(Astid : 28 sl axdl s o

(A) 10 %+ (B) 11 oeusS (C) 5% (D) 5w

1) suRu AR, 2) dedls AR, 3) AMir 3Q, ¥) ¢HeA %, ) R,

GURAL Wi [Aseuin dHAL dllEs syl ousasll s,

(A) 521,34 (B) 5,3,2,1,4 (C) 5,3,24,1 (D) 5,2,4,3,1
COMPENSATION 216t uzel 215 2108 oi<ll 93 A3 d 54l ?

(A) NAME (B) MATE (C) STATION (D) SENATION

AL {12411 6L Hidl €9 24 6 Yol 0. vumidl A1l «tifl 001 2t A1l 18l 20{1 st2 o,

(A) clel (B) sl (C) Hidll (D) yoll

ofl ASA OUHS" QUM "FILA" FIL A AL ALSIA 51" 24 (3% L '6UaAZH sSAUML U ol 6L 5UL e
697

(A) %4 (B) =isl (C) 2ung (D) 28*

23231, 34342, 45453, ............ ?

(A) 65657 (B) 56564 (C) 98988 (D) 76768

qeti-ll 215 s 25 qat-ll siofl el 7 3 6. vt el ciogl 14 3 9. dl sA0Mi 32dl gl 2.

(A) 18 B) 19 (C) 20 (D) 21

215 4RUAA £ e F2 s A2 12514l 653, dl M2 Al sieid alRuind s 4s Y3 sdi 3edl MRe
dlol.

(A) 69 (B) 66 (C) 70 (D) 65

(1AL Hiofl 54 YU v ud © ?

(A) Hdd (B) Al (C) dler (D) wé
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(37)

(38)

(39)

(40)

(41)

(42)

(43)

(44)

(45)

(46)

(47)

999999999° x 999999999° = ?
(A) 1 (B) 999999999 (C) 0 (D) 2t+id

ofl ML s, dldsia [yedl, [yeala Ao, AU 29l A 294 [AB9 secuui U di {lA-Amidl

HelRlg 9 o 7

(A) digsl (B) =a (C) RUod (D) [Pyedl

215 HIRA Ydui 6 {12 UL, R otie sl 8 Wl Aledl ¢d d del aidalni 0l 32dl Hle g2 ¢l ?
(A) 2 (B) 8 (C) 10 (D) 14
BF:DH:PS:... ?

(A) SU (B) SV (C) RV (D) RU

"Don'tyou .......... ?," replied the wise bird.

(A) saw (B) see (C) has seen (D) to see

choose correct synonym for ‘generous'.
(A) Sagacious (B) Inquisitive (C) Altruistic (D) Intrepid
choose the option which describes the closest meaning for the given expression.
"One who is bad at spellings."”
(A) Humdrum (B) Cacographer (C) Orthographer (D) Polymath
Study the following sentences and choose proper analysis given below them.
1. Rajesh seldom watches TV.
2. Bumrah bowls swiftly.
(A) 1 has adverb of frequency while 2 has adverb of manner.
(B) 1 has adverb of manner while 2 has adverb of frequency.
(C) 1 has adverb of reason while 2 has no adverb.
(D) 1 and 2 both have adverb of manner.
Read the following sentence and choose a suitable reporting verb used while transforming it into
indirect speech.

The fans said, ""Alas ! We have lost the match.""

(A) Exclaimed with sorrow (B) Exclaimed with delight

(C) Exclaimed with happiness (D) Exclaimed with praise

When | came to my cave, | ran inside it, as if | were..................

(A) chased (B) being chased (C) be chased (D) having chased
They were all ........... the same way and all of them ............. beards of various shapes and colours.
(A) dress, have (B) dressed, have (C) dress, had (D) dressed, had
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(48)  One day, when | was going towards my boat, | was surprised............. a footprint of a man on the
sand.
(A) saw (B) show (C) to see (D) showed

(49) The words in the sentence below are jumbled.
"1 went the towards footprint large’ Rearrange the words to make a meaningful sentence and

choose the correct answer from below where the words are in order.

(A) | large went towards the footprint. (B) I went the footprint towards large.

(C) I went towards the large footprint. (D) I went the large footprint towards.
(50) Theold lady ................... I met in your house is my neighbor.

(A) who (B) whose (C) whom (D) that
(B1) of the students is in the uniform.

A) all (B) some (C) each (D) every
(52) The news of his arrival ............. received warmly on that day.

(A) is (B) are (C) was (D) were
(53) i My work thirty minutes back.

(A) Finishing (B) have finished (C) will finish (D) finish
(54) Swetaisvery good .................. English.

(A) for (B) in (C) about (D) of
(55) one who has lost his wife is called ..................

(A) widow (B) widower (C) husband (D) vidow
(56)  Bisiei-tl siSuel o@vsi8le HId Al vid AusielAl M sdi ......... Ha 9 ?

(A) 4R (B) 2iig (C) %24 (D) A5 Al
(57)  3L. 3650 v, 4% Avl 45 [eaud @ Yea sed 49 ?

(A) 3. 3866 (B) 3..3688 (C) 3.. 3668 (D) 3L. 3666
(58)  uRRUR 11l 2uldl A AMadluL adunia AL uls HedH Seal el as ?

(A) 2 (B) 3 (C) 4 (D) 0
59 1,1,2,3,5,8,13,21, 34, ..... a suL sl el 9 ?

(A) AHIdR (B) 3LBldr (C) [amu (D) [Zoti-usl
(60) 760 l3cril AeHi 510 Al3d [l olidl 23 ©.360 213w olcl A3 V. dl 32dl disl s5d (&€ otiel a3 ?

(A) 280 (B) 300 (C) 330 (D) 400
(61) 1fl@ek=1.......

(A) a-dler (B) a3l Hle2 (C) ast 3s1ler (D) &~ (Ml 3le
(62) 100 2l 1000 el 2isimi sasetl 2 "1" 32dl auid 19 € ?

(A) 9 (B) 10 (C) 90 (D) 900
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(63)  ollog aUBic-l Gudiol Al UAH L HIRAlY gIRL S il ?

(A) 51den (B) dei2 (C) esHdLd (D) gl
(64) As2+ 10 km 2idx 12 H{l{lexi 518 . ol %34 10 km/hr g2t 249 dl 3edl AHY @l ?

(A) 14 min.30sec. (B) 15 min. 15 sec. (C) 15 min. (D) 14 min. 45 sec.
(65)  widl Busier 3 -l A1diy onogutl arvll sludA L. EREIDRS

(A) uSAAG (B) »uslderd

(C) dSBaderd (D) RS2 vidle uSAIRAA

(66)  OUSIRT, UASN AAAL Yol vl

(A ar’ (B) ar?h (C) 2arh (D) 2ar
(67) A 2uddl Avaii-l agd weudal. 112, 122, 132, 152, 302

(A) 163 (B) 165 (C) 174 (D) isust «Adl
(68)  aRalas Avuldll salaal 3l Asd AuAA S ?

(A) N B) Z € Q (D) R
(69) Az A8 2,7,12,17 4124 ue 49 ?

(A) 50 (B) 55 (C) 57 (D) 32

(70) i@l MeuHi 40 [Qzndltl 214 60 [Qenel-l2il aioL & . ML Hiangls vzl 31.1200 a1y .
[euel-laiia vadni 40% t92 2AuaAl A 92l W2 [Qenlil 422 420 ¢1dl ad]l dal-dl sld dl &35
[euellat 3eal wal ysaadl aiy ?

(A) 3L.1700 (B) 3i.1850 (C) 31.1920 (D) 31.1950

(71)  ois-l s Su-lni e3s Ao su-dl-l Ao dval Fedl s10l £ 1A U D, Al £ H[eA 5@ 510U

31.1,22,500/- G121l Adl el dl d $u-lii e 3edl AUl ¢l ?

(A) 305 (B) 350 (C) 365 (D) 340
(72) AL A-18% eld dl A:B =2 a2l [Aseu uais s3U.

A) 2:9 (B) 9:2 C) 7:4 (D) 4:7
(73) 22,29, X,Y, 33, 37 «l 1312 30 &ld ol Al 54 3oH X 21 Y | vl ey a3 ?

(A) 22332 (B) 27 7 34 (C) 32 27 34 (D) 32 247 29
(74) 1399 x 1399 o yeu s2g sl ?

(A) 19,57,201 (B) 19,47,201 (C) 19,37,201 (D) 19,27,201
(75) %L A+B=2C 244 C+D = 2A dl

(A) A+C=B+D (B) A+C=2D (C) A+tD=B+C (D) A+C=2B
(76) MM Ui ALY ALUDAALURAO ... 8.

(A) 28 (B) 30 (C) 32 (D) 34
(77) 141100l »ie 54 ....oininnnan.. A1 AvAL .

(A) 35 (B) 25 (C) 30 (D) 32
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(78)

(79)

(80)

(81)

(82)

(83)

(84)

(85)

(86)

(87)

(88)

(89)

(90)

‘?1 AR A el o

(A) 1 (B) -3 (C) 3 (D) 1
3

392 i 9 l 2aAEHd 1 9 | 24Ls BHd-l dslad edl a ?

(A) 81 (B) 89 (C) 90 (D) 99

121 +121 +121 ?
2 3 6

(A) 36 (B) 37 (C) 39 (D) 38

A L5 ulauml 175 Hsu Hedl 24 d 35 HisA el A adl ol ulaiHi i adl M 35% HisH

Horaal %330 sld dl uZlaumi HedH sedl 1Sy ¢ ?

(A) 750 (B) 700 (C) 650 (D) 600
3L. 300 Hi wl€l 53 ad 20% sl Aodal 3edl 3Rl dadl vl ?

(A) 300 (B) 360 (C) 400 (D) 460
tolell (Bud sl 254 AUIRL 2Hiedl & deel s+ weAR HIR ...l EREICH

(A) sl (B) vile (C) yalEud (D) andz

215 ULSU 6 selsHl 208l MR 2t ol wisu 12 setisHi 2isl viel 530 643 © dl oA WSy 318 AHA vidalHi
21 ol 216l 5912 MUY ?

(A) 10 scLsHl (B) 12 sdalsul (C) 14 scLsML (D) 16 saisui

il 5 Hlex viA Gl 10 Hler grlddl Bisield &stsn g iy ?

(A) 20 LMl (B) 354l (C) 25 al.4l. (D) 40 «i.Hl.

AN AL a8 sl Alsae, s 3R 9 2l ?

(A) U A3 AL A8 SAAL, (B) U 24l AaRi-l a8 A4 6.

(C) uamsil ag A sl (D) U AL 48 5]

A BraLL Yl Aol dlsan A3 seUR A%S sl2L S ?

(A) Moyl 'eals’ (B) urlldld ued

(C) a1 (D) ld ecue

251 USIR [Aseunigl gl AL — 9131 U Wil Sl

(A) Guw (B) 3us (C) uaRIual (D) elerg[d
i3 wedl seartl wsR aldl eual.  sqeus otul oddl .

(A) Scadsed (B) cilawged (C) eidsEd (D) addiised

13 200 dael woed [Bve 3u [Rseuyidl alel. '*urddl’

(A) 2l Gur ¢RAdL 3014l (B) AL 20 GuR viasll d= AndLdl Al
(C) Rl 1P slradl (D) ¢cid waleieldl arlag,
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(91)

(92)

(93)

(94)

(95)

(96)

(97)

(98)

(99)

(100)

0812 (edeie) ogaudl. "l

(A) &L (B) sRdoux (C) uMlcML

el Uidl 3[RUULAL [Asey Urie 3.

(A) U2 uieel xq (B) e elolla 8q, (C) UeHi 121 Gsdl
(A U4 '[Qzod’ woe-l [ A qHiuel 208 [ Aoel s34l | suL e ?

) Baddg ) erg 3) izl ¥) el

(A) MLl (B) it 1 42 (C) A 2 x4
Rl [Ber 9 Adasaia e ol © ?
(A) deanlt (B) Al edl e (C) ulRsHL el Huirdl

Bqal’ woe Hi2 AlRlAas-l uRl [Aseu e 5.

(A) & +dqul (B) aan+ qm (C) aa + am
weysieflo ARl AR el vilau sfa sieL o ?

(A) vl (B) suRIM (C) i
AAAmidl s34 AR @3U a2l 2.

(A) -adsul (B) -ues (C) uvau
9oLl GmLel AL MAH HLcHSUL 55 ?

(A) il eblsd (B) Acd-il wuldll (C) ousil ol
o A% AU AL SAUL I 6lURRL 69 7

(A) yxl (B) [(wiRell (C) ¥eustwl
e HIRALS 59 Alls[s AL gL SR sAUHL 20 © 7

(A)  oLud AllScd ALHL (B) Ul ulldcd uRme

(C) uesidl AlEe 5184l (D) ol A3 uou

RSS5H

(D) vl elias

(D) U2 uedle %9

(D) 1ot 3 21 4

(D) (%012 2t 24)

(D) ga + qu

(D) ~iesl

(D) &slaudl

(D) »isuaL gl

(D) wgdlaBRda
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waA s, [R»

B
. Yed suaell s A2Alldd .
AH, A, Gl 1AL U3 A3 1A slAY—%rdLe
dllu : ¢ jooRORY AU so (AfAe $4.918L 1 100

allaR salf (a0/—3) walds ulRal

= UAAS U2l GaR A, B, C 244 D U4l 415 315 ® i, GALAUR ol Lol Byl 4 Hidldl 1Y dl dxell W2 [@Qsey
E Garwotdii x4 9.

= UAs AR wU €ls, vudl 913e FUELS dal 95918 dal vl wgladll Bs sl ag Asey salda saedls
0.25 3USHA AR S1uUMl 2Ual. UTg %1 GREAR A6l UYL HidldL L i1 A [Aseu E 315 54 ol 0.25
98l Syl 20aQ A,

= Andd et ulRidla Yot A wel A :
(RuRnosastl il x 1 — {(vieL gaetll v x 0.25) + (vuell 9i3d el Aval x 0.25) + (D915 3 As
sl ag [Asey ealdd oauei vl x 0.25)} = GAgaRA Uk Adi 8L,

(1)

(2)

(3)

4)

()

(6)

(7)

A AL a8 sA arsud, 59RL 3uiaR g 29 ?
(A) UM A3 AAR-AL 98 5L (B) 1 asl ARl a8 A 9.
(C) Rlagidl a8 AN sul (D) R AL 48 sl

A slRlL Hld ol dlsol 43 s-R A%s sleL S ?

(A) el daaioll eals’ (B) u—llald ued

(C) a1yl (D) wila eqia

e sl UsIR [Aseuniadl aal. a3l — 9143l 4. Ul &l

(A) GuaL (B) 3us (C) uaRIuEl (D) u=dld
Wil uerll el wsi2 el Rual.  sgens AR il .

(A) Scaddsed (B) ~Hlamsed (C) cidsEd (D) aduirised

12 2004 dayel 2oed [Qve 3u [Aseunizl aial. ‘euddl

(A) ll2l Gu ¢RAdlL 014l (B) A1l 210 Gur uviasll d= ALl uvidl
(C) Rl 1P slradl (D) ¢cid waeieldl arlag,

10812 (deie) ogaudl. wld

(A) &1 (B) sRdoux (C) uMLcML (D) vl el
el Uicl 3[RUULAL [As5ey Urie 5.

(A) e uesl xq (B) U2 elolld 8q (C) UeHi 121 Gsdl (D) U2 uedle %9
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(8) AL Usl [Awa’ woerl [ Al axidl 208 [ Aoel sul [ suL Y ?
) Bdg ) erRg 3) dlell ¥) sl

(A) MLl (B) Mt 142 (C) A 2+ 4 (D) HIoL 3 21 4
(9) o' [Bex 59 AaasaiA 2R oindl © ?

(A) denA (B) 1l edl e (C) uRsHL el Hui-l (D) (1R wtm 213l
(10)  'gdan’ woe M2 AAQAASHL 0 [Qsew uie s,

(A) &+ dqw (B) gal+qm (C) ga + dw (D) &4 +qru
(11)  weusiele ool AL vifAn 5[ 512 ?

(A) vl (B) dRIH (C) =i (D) eudsL

(12)  llAmiel sy A3 23U a2l el

(A) -adsul (B) -ues (C) Alvl- (D) &slaudl
(13) el Gniiel 2l uaH vicisuL 58 ?

(A) 3 eslsd (B) Acdril Muldll (C) oitril vy (D) A5 Al
(14) o AB AL A SUL e, olaR 9 ?

(A) el (B) [RrRell (C) ¥elslil (D) wgalABRd

(15)  "uRet HRLs 59 AUS[s A2 g1 USRI sUHl 2ud ¢ 7

(A) Auud Ailecd AmL (B) azidl et ulkme
(C) eidl Al is1e4l (D) stolu Alldcd uew
(16)  999999999° x 999999999° = ?
(A) 1 (B) 999999999 © 0 (D) 2trid

(17) 2l ouMslA digst, digsia Breal, Bredl A%, A% 29 2i 22t [Azel s&aimi »0d dl {lA-Amig

HelRIM 9 9 ?

(A) dgsl (B) =u (C) RUod (D) [yeal
(18) s v ydui 6 Hlex ddl, QIR olle slaami 8 Hlex Aledl ¢d d d-l Aladi-i uayl 3edl e g el ?
A) 2 (B) 8 (C) 10 (D) 14
(199 BF:DH:PS: ... ?
(A) SU (B) SV (C) RV (D) RU
(20) "Don'tyou.......... ?," replied the wise bird.
(A) saw (B) see (C) has seen (D) to see
(21)  choose correct synonym for ‘generous’.
(A) Sagacious (B) Inquisitive (C) Altruistic (D) Intrepid

(22)  choose the option which describes the closest meaning for the given expression.
"One who is bad at spellings."
(A) Humdrum (B) Cacographer (C) Orthographer (D) Polymath
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(23)

(24)

(25)

(26)

(27)

(28)

(29)

(30)

(31)

(32)

(33)

(34)

Study the following sentences and choose proper analysis given below them.
1. Rajesh seldom watches TV.
2. Bumrah bowls swiftly.
(A) 1 has adverb of frequency while 2 has adverb of manner.
(B) 1 has adverb of manner while 2 has adverb of frequency.
(C) 1 has adverb of reason while 2 has no adverb.
(D) 1 and 2 both have adverb of manner.
Read the following sentence and choose a suitable reporting verb used while transforming it into
indirect speech.
The fans said, ""Alas ! We have lost the match."

(A) Exclaimed with sorrow (B) Exclaimed with delight

(C) Exclaimed with happiness (D) Exclaimed with praise

(1AL AU 5UL AoEAL A iUl el U3 B ?

(A) 262 (B) 24x X (C) 24V (D) 20S

ofl 25 Hlorve-dl % 3R 8, dl o HB-AUHL 32l UMAR siy ?

(A) 4 (B) 5 () 6 (D) 3

"R WAL YOUARL A2 A4 ArH] HouaRl izl 0d 8" {lAA1uidl 56 Sl 2 Ry wous @ ?
(A) BDHLR (B) EIMQV (C) MPRUX (D) FIMRX
{12 B2l Sl 54 204012 Ll

1) lds ) A 3) Riaa ¥) AYUR

A) 1,2,3,4 (B) 3,4,1,2 ©) 3,4,2,1 (D) 4,3,2,1
(1AL AU SUL AoBAL AR vl el U3 B ?

(A) [~ U4 (B) *Hoiaueild (C) u=lou-l 24l (D) *Rd 25 iy
SIS v 5134 PAGE 4 3%7@ , SORE 4 8©9@ aviali »Ud di d sisMi PEAS 33 qual ?
(A) 3@©8 (B) 3@%9 (C) 3% @8 (D) 3@%8

AUIIHI o1det {12 583, " o1 sisReAl HL HIRL AU AL 1" Al 244 01U wisHIR A2 2l Aoiy ¢ ?
(A) HWH—Hdlrag  (B) sisi—obllwiag  (C) awll oAl (D) A5 Al

L5 4olHL AlAAL 51 20 14 ML 247 wiesnell 41 HL 6. ol 241 a2lui Jeal [Qguelsl el ?

(A) 52 (B) 54 (C) 55 (D) 56

25 ATsed, WS U000 vl 14 Betllexd »idR 51U €9 dl d ulsadl Usill Brosul Seal AL a1y ?
(A) 90 (B) 3u (C) 19 (D) 1¥o

AHIRL ALSAHL 6l d8 AaMl 012 € ol dlSHH g 3edl l3datl el ?

(A) 17 (B) 18 (C) 15 (D) 16
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(35)

(36)

(37)

(38)

(39)

(40)

(41)

(42)

(43)

(44)

(45)

(46)

(47)

2idew youari-l 2l 'ABCD.......... Z' Mi 2ifam youardl sioll dzs 18 wi youa+{l gmsllonsgt viaHl
HoUlgR 5UL 69 7

(A) C (B) M (C) N (D) O

5 AUSA AR Y [BWHE 5 km 2idR $1U 9, lRells d slBel [BaHi 12 km 2id st 6. 241 1454 AR
539 @AUAIdR, yed sed, ?

(A) 17 km (B) 13 km (C) 7 km (D) u

ol 315 HIBrilAl AldHL (B YR $cll 218 [BaA Al AR Sl dl d M+t 19 Hi [Ba sul iy ?

(A) [aar (B) ¥MaR (C) olaaR (D) YsaR

215 WRARHL 215 Y3s 24 dll U], duei 1R (2531 24 dul uedlail 28 8. 835 [BsuA 219 (2521 21

25 (2530 Sl dl A4 F301H1 Y3u Ui+l vy onuial.

(A) 4 (B) 8 (C) 12 (D) 17

uled UMY dHIRL U39l 56 [Baumi ed ?

(A) Gd= (B) eléw (C) uBan (D) ud

15 >tiorre 1947 AL [t sdl R a1 ?

(A) AMAR (B) *Hamar (C) ysaR (D) “aalR

HIRL SLSHL il Youedl yofl Wl g an ?

(A) ool (B) ol (C) 818 (D) el

Bedlell AA 23:50 (SEsun 221w 215) sl Guid @A 8 sals uesl dswti B & R, il deal
CIRBIRC N

(A) 7:50 (B) 15:50 (C) 2:20 (D) 3:30

When | came to my cave, | ran inside it, as if | were..................

(A) chased (B) being chased (C) be chased (D) having chased
They were all ........... the same way and all of them ............. beards of various shapes and colours.
(A) dress, have (B) dressed, have (C) dress, had (D) dressed, had

One day, when | was going towards my boat, | was surprised............. a footprint of a man on the
sand.

(A) saw (B) show (C) to see (D) showed

The words in the sentence below are jumbled.
"1 went the towards footprint large’ Rearrange the words to make a meaningful sentence and

choose the correct answer from below where the words are in order.

(A) I large went towards the footprint. (B) 1 went the footprint towards large.
(C) 1 went towards the large footprint. (D) I went the large footprint towards.
The old lady ................... I met in your house is my neighbor.

(A) who (B) whose (C) whom (D) that
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(48)

(49)

(50)

(51)

(52)

(53)

(54)

(55)

(56)

(57)

(58)

(59)

(60)

(61)

(62)

Brsieiel s1SuRL oufvsiR1d M dell Sid AHSRAL MY Sl ......... wa 9 ?

(A) auR (B) 2iigg (C) %24 (D) »isuaL Al
3. 3650 v 4% @l 45 [Baud el Yed sed ul ?

(A) 3. 3866 (B) 3..3688 (C) 3L. 3668 (D) 3L. 3666
U3 sl 2uldl 6 AHAelUL adolia - U5 HedH Sedl giFl asiy ?

(A) 2 (B) 3 (C) 4 (D) 0O
1,1,2,3,5,8,13,21, 34, ..... d saL usl+l 2l 9 ?

(A) AMIdR (B) 2LelldR (C) [amn (D) [Beii-udl

760 A3l A4eHl 510 l3d (-2l otiell 93 ©9.360 »idew ol 43 8. di 32dl disl s5d [l oliedl ud ?
(A) 280 (B) 300 (C) 330 (D) 400

1@ =1,

(A) a-dleR (B) a3l Hle: (C) ast3s1ler (D) a-t (dl Hlex

100 ¢l 1000 Y#ilil isiHi easel e "1" 3ed]l auid 219 © ?
(A) 9 (B) 10 (C) 90 (D) 900
of)o OBl GUALOL AL MAH sUL MIRALY glRL S ALl ?

(A) 5den (B) udeiz (C) AsHd (D) golrd

A 2ist oot 39 Gu XIX arl 9. 21 dl eudl Gz XXIV arl 8. dl du-l Gyl ol 3edl
qy?

(A) XLIV (B) XXIV (C) XL (D) XLVI

Yoy [Aseu uie st vuddl wulyrl.  2,A,9,B,6,C, 13,D, .......

(A) 9 (B) 10 (C) 12 (D) 19

‘ada : e’ gl A8l uris s

(A) doiza:[@Qssl  (B) @ : Bl (C) R : ot (D) [ge1ors : el
A BdR ds o oMl aull ugl 5302l omdl aolla s1oll ds aotl ol ed di S [BaHi ol ?

(A) G2 (B) ud (C) eallal (D) By

25 e1RML A 1ol ougdl 12 1isH . Rav amell ellogell 19 His4 9. ol 2 Aed—oled Ald, dl

U9 316fl ouogall 21 MisH A B dl SIRHL s 3edl 9lsU ¢l ?

(A) 40 (B) 50 (C) 52 (D) 39

%11 =25 SUN =27 ¢lu, dlCAT = ...............

(A) 24 (B) 27 (C) 57 (D) 38
[Asiin : 28 g2l aredl: L

(A) 10 %+ (B) 11 %causS (C) 5% (D) 5w
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(63)

(64)

(65)

(66)

(67)

(68)

(69)

(70)

(71)

(72)

(73)

(74)

(75)

(76)

(77)

1) 5434 R, ?) 3edls AR, 3) A <A, %) od %, W) SRl

GURAL Wi [Aseuin dHAL dlEs syl ousasl s2.

(A) 52134 (B) 5,3,2,1,4 (C) 53,24,1 (D) 5,2,4,3,1
A2ABodl®d. CAD AT . Al y{l D . di B+l C 18 sul 2ivia 0.

(A) ucll (B) oleA (C) xRl (D) su8l
AABABCABCDABCD............ As(l el 5.

(A) A (B) F ) E (D) D

{13 20t 2108 oML sUL 0% oflorl o121 2l AL U B d gl ?

(A) deR (B) ldar (C) il (D) YAR
....................... of the students is in the uniform.

(A) all (B) some (C) each (D) every

The news of his arrival ............. received warmly on that day.

(A) s (B) are (C) was (D) were
TR My work thirty minutes back.

(A) Finishing (B) have finished (C) will finish (D) finish

Sweta is very good .................. English.

(A) for (B) in (C) about (D) of

one who has lost his wife is called ..................

(A) widow (B) widower (C) husband (D) vidow
COMPENSATION s16¢ uzell 315 210¢ ot-{l a3 <A d 54l ?

(A) NAME (B) MATE (C) STATION (D) SENATION
AL {2 6L HidL €9 27 6L Yool . suniell ALl il 220 2401 2012l {iE) 21 5121 ©.

(A) clel (B) sl (C) Hidll (D) yoll

ofl ASA OUHS" QUM "B’ FoL A AL ALSIA 'Sy’ 24 (3o L 'olaA3H sSAML U L S0 5UL e
87

(A) %4 (B) =isl (C) 2ung (D) 282

23231, 34342, 45453, ............ ?

(A) 65657 (B) 56564 (C) 98988 (D) 76768

qeti-ll 215 s 215 qat-ll siefl ougell 7 3 6. vt el ougll 14 3 9. dl sA0Mi 3edl gail 2.
(A) 18 B) 19 (C) 20 (D) 21

215 4RAUAA £ e F2 s A2 w1254 653, dl MR2 Al siein el s 28 Y3 sdi 3edl MAe
Alol.

(A) 69 (B) 66 (C) 70 (D) 65
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(78) (2 il 54 Yu MA2 ud © 7

(A) wdd (B) alredler (C) dlex (D) u$
(79)  As52+ 10 km 2idx 12 H{l{lexii 518 . ol %34 10 km/hr g2t 249 dl 3edl AHY @l ?

(A) 14 min.30sec. (B) 15 min. 15 sec. (C) 15 min. (D) 14 min. 45 sec.
(80)  idl (Busial 3 +{l Adly gt Al sludA ... EREIDRS

(A) uSAAG (B) »uslderd

(C) dSBaderd (D) RS2 vidle uSAIRAA

(81)  -UUSIRT, UASN AwAAL Yol vl

(A ar’ (B) ar?h (C) 2arh (D) 2ar
(82) 1A 2uddl Avuiii-l R weual. 112, 122, 132, 152, 302

(A) 163 (B) 165 (C) 174 (D) isust «Adl
(83)  ardlas Avudl salaal 3l Add qugAA S ?

(A) N B) Z € Q (D) R
(84) Az A8 2,7,12,17 4124 e 49 ?

(A) 50 (B) 55 (C) 57 (D) 32

(85)  siA%ll MalHi 40 [Qzuedlxil 14 60 [Aziel-lall tioL & €9, uaiA-tl Hiagls w2l 31.1200 41 ©.
[euel-latia vadni 40% 92 2AuaAl A 92l W2 [Qenlil 422 420 ¢1dl adl dal-dl ld dl e3s
[euellat 3eal wal ysaadl aiy ?

(A) 3L.1700 (B) 3i.1850 (C) 31.1920 (D) 31.1950
(86)  RUsrid s uFlauMi 175 HISU ML 24 o 35 s ol i 2l ol el wig gal w2 35% Hisu

qoaal %330 sl dl YTlaiHl Hedy 32l M5y ¢l ?

(A) 750 (B) 700 (C) 650 (D) 600
(87)  3L. 300 Hi wiz€l s3d g 20% sl Hoadl el 3Rumi Al u3 ?

(A) 300 (B) 360 (C) 400 (D) 460
(88)  91uell (BHd sl 254 AW il & dedl 25 weAR HIZ ...l ERETDN

(A) sl (B) vz (C) yal5ud (D) andz

(89) 5 UISU 6 sclsi 214l M3 244 oflogt Wiy 12 scsui 2isl vudl 53 a3 @ dl oid uidy 215 AHA vilaami
219 dl 2l5l 5413 *R1Y ?

(A) 10 sdLsHl (B) 12 sdisHi (C) 14 saisml (D) 16 scisui
(90) il 5 ¥12R 24 G 10 Hler sriadl Pisivnd axso 3ed uly ?

(A) 2014, (B) 354, (C) 25 1ML, (D) 40 1.,
(91) 22,29, X,Y, 33,37 <l 13212 30 ¢ld ol {A-nidl 54 401 X 24 Y | vl ey a3 ?

(A) 22 243 32 (B) 27 7\ 34 (C) 32 23 34 (D) 32 47129
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(92)

(93)

(94)

(95)

(96)

(97)

(98)

(99)

(100)

1399 x 1399 o yeu seq sal ?

(A) 19,57,201 (B) 19,47,201 (C) 19,37,201
ol A+B = 2C - C+D = 2A dl

(A) A+C=B+D (B) A+C=2D (C) A+tD=B+C
UM, YA AU AVUAAL ARAN ... 9.

(A) 28 (B) 30 (C) 32

1100 Al vieR $4 .ovnnnnnnnn.n. w[Aeuay AvaL .

(A) 35 (B) 25 (C) 30

(D) 19,27,201

(D) A+C=2B

(D) 34

(D) 32

AsAAl s Su-dlui e3s ucu Su-l-l ueu vl Fedl s1oll e HRA U D, %l e H_A sa sl

31.1,22,500/- G121l Ul i ol d Su-lHi gt 3edl Aol 62l ?

(A) 305 (B) 350 (C) 365

%l Al 18% sid dl A:B = ? il [QAsey ue s2.

(A) 2:9 (B) 9:2 (C) 7:4

‘?1 )RR AL R

(A) 1 (B) -3 €) 3

3

392 4 9 | 2aAEHd 211 9 | s BHd-l dslad dedl i ?

(A) 81 (B) 89 (C) 90

121+12£+121 ?

2 3 6

(A) 36 (B) 37 (C) 39

RS SIH,

(D) 340

(D) 4:7

(D) 1

(D) 99

(D) 38
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waA s, [R»

c
. Yed suaell s A2Alldd .
AH, A, Gl 1AL U3 A3 1A slAY—%rdLe
dllu : ¢ jooRORY AU so (AfAe $4.918L 1 100

allaR salf (a0/—3) walds ulRal

= UAAS U2l GaR A, B, C 244 D U4l 415 315 ® i, GALAUR ol Lol Byl 4 Hidldl 1Y dl el W2 [@Asey
E Garwotdii x4 9.
= AAS AR T 218, vuell 93a FUsElSs dul 950915 al vildl wglell 25 sl ag Qs salda gaedls
0.25 3USHA AR S1uUMl 2Ual. UTg %1 GREAR A6l UYL HidldL L i1 A [Aseu E 315 54 ol 0.25
98l sty 20aQ ],
= Andd et ulRidla Yot A wel A :
(RuRnosastl il x 1 — {(vieL gaetll v x 0.25) + (vuell 9i3d el Aval x 0.25) + (D915 3 As
sl ag [Asey ealdd oauei vl x 0.25)} = GAgaRA Uk Adi 8L,
(1) 41 25 A1o1vedl % 3R 9, dl d MMl Sedl AR el ?
(A) 4 (B) 5 () 6 (D) 3
(2) "W WAL YouaRL a2 4L Aviul qouaRl izl wud 8 {lA-mizll 55 2l L Fuam w9 ?
(A) BDHLR (B) EIMQV (C) MPRUX (D) FIMRX
(3) 1A gent SR SH AR sl
1) Uas 2) A 3) Riael ¥) AR
(A 1,2,3,4 (B) 3,4,1,2 (€) 3,4,2,1 (D) 4,3,2,1
(4) A axeHl s a0el AHe vl el Ul © ?
(A) R 20134 (B) ¥olduMLd (C) »uRivus{l 1dl (D) ®IRd 215 vy
(5) s vuA sisMl PAGE 4 3%7@ , SORE 1 8©9@ avicli™i U4 dl d sisyi PEAS 34 @wugl ?
(A) 3@©8 (B) 3@%9 (C) 3% @8 (D) 3@%8
(6) U3l 3@ {13t 58y, " o isReAl ML HIRL AU AAUAL 414" 20l 249 01 SisUR A2, 2l Aoig w9 ?
(A) HWH—H8lE ag  (B) sisi—oallos ag (C) vl o1l (D) »isuaL Al
(7)  Read the following sentence and choose a suitable reporting verb used while transforming it into

indirect speech.

The fans said, ""Alas ! We have lost the match."

(A) Exclaimed with sorrow (B) Exclaimed with delight
(C) Exclaimed with happiness (D) Exclaimed with praise
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(8)  When I came to my cave, | ran inside it, as if | were..................

(A) chased (B) being chased (C) be chased (D) having chased

(99 Theywereall ........... the same way and all of them ............. beards of various shapes and colours.
(A) dress, have (B) dressed, have (C) dress, had (D) dressed, had

(10)  One day, when | was going towards my boat, | was surprised............. a footprint of a man on the
sand.
(A) saw (B) show (C) to see (D) showed

(11) The words in the sentence below are jumbled.
"I went the towards footprint large’ Rearrange the words to make a meaningful sentence and

choose the correct answer from below where the words are in order.

(A) | large went towards the footprint. (B) I went the footprint towards large.
(C) I went towards the large footprint. (D) I went the large footprint towards.
(12) Theoldlady ................... I met in your house is my neighbor.
(A) who (B) whose (C) whom (D) that
(13)  'uA Nam-l ag sal' alsds s 3uidR 9 udl ?
(A) UM A3 AAR-AL 48 5L (B) 1 asl aR-l a8 A 9.
(C) Rlagi-l ag AA sul (D) UH AL 48 sl

(14) 2w sl yld uoil dlsion A3 52U %S 512 9 7

(A) el daaioll eals’ (B) u—llald ued

(C) alnad 13w (D) »ld ecue
(15)  woeld (2ddis) oeudl. s

(A) &1 (B) sRdoux (C) uMLcL (D) 2avilA el
(16) el usdl 3[3udioll [Asey urie sl

(A) e weel xq (B) U2 elolld 8q (C) UeHi 121 Gsdl (D) U2 uedle %9
(17) A U4 [agd’ aoesl [ <AL auisel aoe [ 0el 54l [/ 541 ?

) Brdg ) erRg 3) dloell ¥) sl

(A) MLl (B) #1122 (C) WA 2»+1 4 (D) #ioL 3 21 4
(18)  wtdsi-l usIR [Aseuniell alel. A3l — 9143l 24 WL 8dl.
(A) Guw (B) 3us (C) uaRIual (D) elerg[d
(19)  Mil3d uerll sEa-l UsR el udl.  sHous diR AL Al
(A) Scagdsid (B) ~H[amsed (C) oictsed (D) aduirised
(20) 1A 2004 dnuel woed [ve 3u [Qseunial wial. 'euddl
(A) lld Gur ¢RAd] 314l (B) A1 210 GuR uviasll de qndLdl uvidl
(C) ~Rdl P siRadl (D) e waloteld] 41dd
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(21)

(22)

(23)

(24)

(25)

(26)

(27)

(28)

(29)

(30)

(31)

(32)

(33)

(34)

(35)

Al Bew 56 daasaa 2uaR sRdl e ?

(A) deanlt (B) Al edl e (C) uRsHL el Hui-ll (D) [Bo1R 2t 213l
el woe iz AlRAAsH ARl [Aseu e sU.

(A) &+ qu (B) ga+ g (C) ga + qw (D) aa +dw
weysieflot Rl AR edrlL vilax sfa sieL o ?

(A) vl (B) Rl (C) =i (D) eudsl

AAAmidl sy AR a3U a2l 2],

(A) -adsu (B) -ues (C) Alvl- (D) &slaudl
ol eirvie{l AL UM HicHsAL 5O 9 ?

(A) w3 eslsd (B) dcdsil Mol (C) oiirl vy (D) A5yl A1l

o A% AU E AL UL 9 6lURRL 69 7

(A) yedl (B) Rl (C) el (D) wgdalaBRda
e HIRLS 59 Alls[cds A2alL gL SR sAUHL 20 © 7

(A)  oLud Alldcd ALHL (B) sl ulldcd uRme

(C) el AlEe 5184l (D) stoln A3 uou

ofl UM LA dlgsl, dldsia [Byeal, [Breala Ao, AU 29l vid 294 [@B sScuui U dl dlA-Amidl

HelRln 9 o 7

(A) dgsl (B) =u (C) Rd (D) [yeal

215 HIRA Ydui 6 {12z UL, R otie sl 8 Wl Aledl ¢d d del aidaldi 20 3edl Hle g2 ¢l ?
(A) 2 (B) 8 (C) 10 (D) 14
BF:DH:PS:.......... ?

(A) SU (B) SV (C) RV (D) RU

"Don'tyou .......... ?," replied the wise bird.

(A) saw (B) see (C) has seen (D) to see

choose correct synonym for 'generous'.

(A) Sagacious (B) Inquisitive (C) Altruistic (D) Intrepid
choose the option which describes the closest meaning for the given expression.

"One who is bad at spellings.”

(A) Humdrum (B) Cacographer (C) Orthographer (D) Polymath
o My work thirty minutes back.

(A) Finishing (B) have finished (C) will finish (D) finish
Sweta is very good .................. English.

(A) for (B) in (C) about (D) of
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(36)

(37)

(38)

(39)

(40)

(41)

(42)

(43)

(44)

(45)

(46)

(47)

(48)

Study the following sentences and choose proper analysis given below them.
1. Rajesh seldom watches TV.
2. Bumrah bowls swiftly.

(A) 1 has adverb of frequency while 2 has adverb of manner.

(B) 1 has adverb of manner while 2 has adverb of frequency.

(C) 1 has adverb of reason while 2 has no adverb.

(D) 1 and 2 both have adverb of manner.

one who has lost his wife is called ..................

(A) widow (B) widower (C) husband (D) vidow
....................... of the students is in the uniform.

(A) all (B) some (C) each (D) every
The news of his arrival ............. received warmly on that day.

(A) is (B) are (C) was (D) were

5 AUsA AR Y [2WHE 5 Kkm vidR s1U 9, Rols d elBel Rl 12 km 2idR s 9. 2L 01454 AR
539 @AUHIdR, yed sed, ?

(A) 17 km (B) 13 km (C) 7 km (D) a4

ofl 215 H[ReAledl AldHL (B YsAUR 5l 218 [Bau dddl AR Sy, dl d 1ALl 19 L [Ba sul eld ?

(A) [Aar (B) AR (C) saaR (D) YsaR

215 URARHL 205 Y3s 24 dfl U], duei 1R (2531 24 dudl uedlail 28 8. 835 [RsuA 210 (2521 21
25 (2530 S, dl A4 $So1HL Yo Uil vy ol

(A) 4 (B) 8 (C) 12 (D) 17

A 2isl yoror A9 Gu XIX arl 9. 217 dl ctd-l G XXIV arl 8. dl du-l G-l aaial 3edl

Y ?

(A) XLIV (B) XXIV (C) XL (D) XLVI
Yoy [Aseu wie sP vuddl aulyrl.  2,A,9,B,6,C, 13,D, .......

(A) 9 (B) 10 (C) 12 (D) 19

adol e’ gl #idl uie s
(A) doriza: s (B) o : Bosa (C) ARA:dorliza (D) [Bows : viell

315 Qi vlaAl 54 uoLl 14 1l 1A wiesnll 41 Hi 69, dl 2 oMl Seal [Qeuelql e ?

(A) 52 (B) 54 (C) 55 (D) 56
25 ATsed, U U000 vl 14 Betllexd »idR 51U €9 dl d ulsadl Usill Brogul Seal AL a1y ?
(A) 90 (B) 3u (C) 19 (D) 1¥o

AHIRL ALSAHL i A8 AAaMl -2 9 dl dlSHul ga 3edl ulbdail ¢l ?
(A) 17 (B) 18 (C) 15 (D) 16
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(49)

(50)

(51)

(52)

(53)

(54)

(55)

(56)

(57)

(58)

(59)

(60)

(61)

(62)

2idew youari-l 2l 'ABCD.......... Z' Mi 2ifam youardl sioll dzs 18 wi youa+{l gmsllonsgt viaHl

HoUlgR 5UL 69 7

A) C (B) M ©) N (D) O
A2ABodl®d. CAD AT . Al y(l D . di B+l C 18 sul 2ol 0.

(A) ucll (B) oleA (C) xRl (D) 58l
AABABCABCDABCD............ 2l yal 2.

(A) A (B) F ) E (D) D

{13 20t 2108 oML sUL 20e oflogl 2121 2l AL U B d gl ?

(A) deR (B) ldar (C) il (D) YR
Qs : 28 sl el s o

(A) 10 %~ (B) 11 wausS (C) 5 (D) 5=2awR

1) suRu AR, 2) dedls AR, 3) AMir 3d, ) A %, ) R,
BUL Wi [Qseuia dxnl dulEs sHAi ousasll si.

(A) 521,34 (B) 5,3,2,1,4 (C) 5,3,24,1 (D) 5,2,4,3,1
COMPENSATION 216t uzel 215 2108 oiefl 93 A3 d 54l ?

(A) NAME (B) MATE (C) STATION (D) SENATION

215 4RUAA £ e H2 s A2 w1254 653, dl MR2 Al sieid alRainsg s 48 Y3 sdi 3edl MRe
dlol.

(A) 69 (B) 66 (C) 70 (D) 65

{12 Higll 54 YU vad ud © ?

(A) Wudd (B) aleHle: (C) dle: (D) ws

999999999° x 999999999° = ?

(A) 1 (B) 999999999 © 0 (D) 2trid

AL {2 6L HidL €9 2 6L Yool . suniell ALl il 200 241 2012l {IEL 21 512 ©.

(A) elel (B) Wil (C) Hicl (D) yoll

ofl AR OUHS" OUHILA "I’ FOL A "I A5 'Flog" A (B AL 'olaAIH sSAML U dl 6L 5UL
697

(A) %N (B) sl (C) 2usg (D) uer

23231, 34342, 45453, ............ ?

(A) 65657 (B) 56564 (C) 98988 (D) 76768

qati-ll 315 sAAHL A5 qael siofl ougell 7 3 8. 2 il ougel 14 3 9. dl sioumi 3edl gail ¢l

(A) 18 (B) 19 (C) 20 (D) 21
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(63)  yuled AHA dAHIRL U391l 595 [BauHi el ?

(A) Gar (B) clam (C) By (D) yd
(64) 15 o102 1947 -l [2ad sul AR &9l ?
(A) HMaAR (B) omaR (C) wsaR (D) oaaR
(65) 1RSSRt youell yoll wul o iy ?
(A) &l (B) ol (C) s (D) el
(66) [Redldl 215 23:50 (St 2e1m38 2154) Adl Gulg [Quin 8 satls gl dsrui G & R, il dedl
ALyl 89l ?
(A) 7:50 (B) 15:50 (C) 2:20 (D) 3:30

(67) s eiHl A% stofl ougell 12 HisH @, Rav el ool 19 MisH 9. %l 2l dHed—oled UL, dl

%9 310fl ouogall 21 MisH AL B dl SIRHL $A S2dl 1915 ¢l ?

(A) 40 (B) 50 (C) 52 (D) 39
(68) 11=25 SUN =27 ¢id, di CAT = ...............

(A) 24 (B) 27 (C) 57 (D) 38
(69) ¥ GdR drs %S el aulla wedl 530l o8l aoll s16ll drs Aol 91, €d di 59 [Raumi ol ?

(A) G (B) yd (C) eallal (D) By
(70) (AL AHSHL sUL 20erl AHYS UYL AEL U B 7

(A) 262 (B) 24xX (C) 24V (D) 20S
(71)  Busieitl siduel o@rsiele Hid del vid AyusieiAl 1w sdi ......... HaL Y ?

(A) 4R (B) 2iig (C) %24 (D) A5 Al
(72)  31. 3650 +, 4% Avl 45 [zaud @ Hea sed 49 ?

(A) 3. 3866 (B) 3..3688 (C) 3L. 3668 (D) 3.. 3666
(73) R o1l 2usldl oL AMddlaL adolia AMLd 2uls HedH Sedl el asiy ?

(A) 2 (B) 3 (C) 4 (D) 0
(74) 1,1,2,3,5,8,13,21, 34, ..... d saLusiRl Ael 9 ?

(A) AHidR (B) 3u8lidr (C) [amuy (D) [Zoti-usl
(75) 760 dl3dril AeHi 510 ul3d (-2l olidl 23 ©.360 213w olcl A3 8. dl 32dl disl s5d [&-€ otiell 93 ?

(A) 280 (B) 300 (C) 330 (D) 400
(76)  dl Busiar 3 ¥+l 1y elogutl Al el dn Ll ERETURL

(A) 2USAAL (B) usSAldre

(C) dSBadera (D) Se ide 2USARAA

(77)  AUSIR, 850 2adl Yol @vil,
(A)  mr? (B) 7r2h (C) 2arh (D) 2ar
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(78) 1A 2uldl Avai-l ud weual. 112, 122, 132, 152, 302
(A) 163 (B) 165 (C) 174 (D) isugl <4l
(79)  si@osil MM 40 [QzndlAl 214 60 [Qeuel-loil el & . Maiu-l Hiangls vzl 31.1200 A1y 9.
[evel-latia vdni 40% 92 2AuaAl A 92l W2l [Qenl2il a2 vt ei1dl adl dal-dl sld dl e3s
[euellat 3eel wal ysaddl aiy ?
(A) 3L 1700 (B) 3i.1850 (C) 31. 1920 (D) 3t. 1950
(80) sl s Su-lHi es Ao syl Ao Avl Fedl 5100 82 HRA 2L B, Al £ MR g4 5101

31.1,22,500/- G121l Adl el ol d $u-{lui 56 dedl Aol ¢dl ?

(A) 305 (B) 350 (C) 365 (D) 340
(81) SLA-L18% siudl AB =72l [Asey wiie 5.

(A) 2:9 (B) 9:2 (C) 7:4 (D) 4:7
(82) 11100l »ie s . .c.ouiuann..... w[Aery AL .

(A) 35 (B) 25 (C) 30 (D) 32
83) ‘?1 AL RAA AL O e

(A) 1 (B) -3 ©€) 3 (D)1

3

(84) 392 4i 9 -l 22ulEud 24 9 «ll s Bl dslad Seel U1y ?

(A) 81 (B) 89 (C) 90 (D) 99
(85)  o1uell (BHd 52l 254 AW il & dedl 25 weAR HIZ ... ...l ERETUN

(A) sl (B) vz (C) yal5ud (D) andz

(86) s UISU 6 scllsHi 214l M3 244 oflon iU 12 scsui 2isl vidl 53 a3 @ dl oid uiy 215 1A vilaami
21 dll 216l sU1R MUY ?
(A) 10 sdlsHi (B) 12 saisHi (C) 14 saisui (D) 16 saisi

(87) il 5 122 241 G 10 Hler sriadl Pisivndg axso 3eg a1y ?
(A) 20 L. (B) 35l (C) 251.4. (D) 40 LMl

(88) 121 +121 +121 ?
2 3 6

(A) 36 (B) 37 (C) 39 (D) 38
(89) et s ulauHi 175 ML Houl A d 35 Mg ol A 2l ol ulauHi wi ddl {2 35% HISA

qoaal %330 sl dl YTlaiHl Hedy 3edl w5y el ?

(A) 750 (B) 700 (C) 650 (D) 600
(90)  3L. 300 Hi wR€l s3d A 20% sl Hoadl el UM Al u3 ?
(A) 300 (B) 360 (C) 400 (D) 460
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(91) 22,29, X,Y, 33, 37 -l 12191 30 Siu ol {A-mizll 534 o1 X 24 Y Al Avan el a3 ?

(A) 22 32 (B) 27 »34 (C) 32134 (D) 3221729
(92) 1399 x 1399 « Heu g vl ?

(A) 19,57,201 (B) 19,47,201 (C) 19,37,201 (D) 19,27,201
(93) %LA+B=2C 24 C+D =2A dl

(A) A+C=B+D (B) A+C=2D (C) A+D=B+C (D) A+C=2B
(94) MU Ui QAU AVAAALARAUAL .....oeeeee 8.

(A) 28 (B) 30 (C) 32 (D) 34
(95)  Ardlas Avdro saladl sdlAdd auyAL S ?

(A) N B) Z © Q (D) R
(96) =AMz A8 2,7,12,17 4124 ue 49 ?

(A) 50 (B) 55 (C) 57 (D) 32
(97) 1ReR=1 ...,

(A) asdler (B) a3l Hle: (C) ast 3s1ler (D) &t (Ml *{le

(98) 100 2l 1000 y#l-i 2isiui sasel 2 "1" 3ed] arid 20 € ?
(A) 9 (B) 10 (C) 90 (D) 900
(99)  oflog aUlBic-l GuUlol Al UAH. 521 HIRALY gIRL SRAUHL il ?

(A) 51den (B) udeiz (C) AsHd (D) golrd
(100) 1524 10 km 2idz 12 Hl-{lewi 51U 9. ol %34 10 km/hr gat3aimi »Ud dl 32dl 41U d1dl ?
(A) 14 min.30sec. (B) 15 min. 15 sec. (C) 15 min. (D) 14 min. 45 sec.
RE5H
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waA s, [R»

D
. Yed suaell s A2Alldd .
AH, A, Gl 1AL U3 A3 1A slAY—%rdLe
dllu : ¢ jooRORY AU so (AfAe $4.918L 1 100

allaR salf (a0/—3) walds ulRal

= UAAS U2l GaR A, B, C 244 D U4l 415 315 ® i, GALAUR ol Lol Byl 4 Hidldl 1Y dl el W2 [@Asey
E Garwotdii x4 9.

= UAs AR wU €ls, vudl 913e FUELS dal 95918 dal vl wgladll Bs sl ag Asey salda saedls
0.25 3USHA AR S1uUMl 2Ual. UTg %1 GREAR A6l UYL HidldL L i1 A [Aseu E 315 54 ol 0.25
98l syl 20aQ A,

= Andd et ulRidla Yot A wel A :
(RuRnosastl il x 1 — {(vieL gaetll v x 0.25) + (vuell 9i3d el Aval x 0.25) + (D915 3 As
sl ag [Asey ealdd oauei vl x 0.25)} = GAgaRA Uk Adi 8L,

(1)

@)

(3)

4)

()

(6)

"Don'tyou .......... ?," replied the wise bird.
(A) saw (B) see (C) has seen (D) to see
choose correct synonym for 'generous'.
(A) Sagacious (B) Inquisitive (C) Altruistic (D) Intrepid
choose the option which describes the closest meaning for the given expression.
"One who is bad at spellings.”
(A) Humdrum (B) Cacographer (C) Orthographer (D) Polymath
Study the following sentences and choose proper analysis given below them.

1. Rajesh seldom watches TV.

2. Bumrah bowls swiftly.

(A) 1 has adverb of frequency while 2 has adverb of manner.

(B) 1 has adverb of manner while 2 has adverb of frequency.

(C) 1 has adverb of reason while 2 has no adverb.

(D) 1 and 2 both have adverb of manner.

1081 (medie) oaudl. wld

(A) &R (B) sRdoux (C) WRHIML (D) Al ioiien
el Udl 3RUALAL [A5eU Uie 53U,

(A) U2 wesl g (B) U2 slofln g (C) ueni 2L Gsdl (D) ueuedls %9
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)

(8)

(9)

(10)

1)

(12)

(13)

(14)

(15)

(16)

(17)

(18)

(19)

(20)

(A YA [Qzod’ woe-l [ A qHi-el 20 [ Aoel s34l | suL e ?

) Bdg ) erRg 3) dlell ¥) sl

(A) MLl (B) Mt 142 (C) A 2+ 4 (D) HIoL 3 21 4
Ral' [Beu 59 dadsui 2R ondl o ?

(A) denA (B) 1l edl e (C) uRsHL el Hui-l (D) (1R wtm 213l
Bqal’ woe Hi2 AlRAasHl uRl [Aseu e 5.

(A) g+ qu (B) gal+qm (C) ga + dw (D) &4 +qru
weysiele 9ol AUBAUAL ifan s[A 5121 ?
(A) vl (B) dRIH (C) =i (D) eudsL
392 41 9+l 22AlEHd 27 9 {l 245 BHdrdl dslad Sedl A ?
(A) 81 (B) 89 (C) 90 (D) 99

1 1 1

12=+12-+12= 7
2 3 6

(A) 36 (B) 37 (C) 39 (D) 38

A A5 ulaMl 175 115 1oL oA o 35 Hisd ol i 2l ol wRlauml W aal M2 35% HiSA
qoaal %330 sl dl YTlaiHl HedH Sedl W5y e ?

(A) 750 (B) 700 (C) 650 (D) 600
3L. 300 i w2l 534 ad 20% sl qodal 32al 3Rl dadl vl ?

(A) 300 (B) 360 (C) 400 (D) 460
oLl (Bud sl 254 AU 2Hiedl & deel sHA wletR |2 L. ERETCR

(A) sl (B) vile (C) yalE4d (D) andz

215 WIS 6 sclsHl 2isl M2 vt oflon WSy 12 saisHi 2isl vitel 530 943 © dl ol WSy 2is A4 viddiHi
2119 dl 2l5l sU1R *1Y ?

(A) 10 scLsHi (B) 12 sdalsul (C) 14 scLsMl (D) 16 saisi

il 5 Hlex wid Gl 10 Hler grlddl Bisierd &stsn g wiu ?

(A) 20 LM, (B) 35=i.4l. (C) 25 al.4. (D) 40 «i.Hl.

AN AL a8 Al Alsae, s 3uidR 9 2l ?

(A) UM A3 AAR-AL 98 5L (B) uH usl ARl a8 w1 9.

(C) Ruami-l ag A sdl (D) UH AARIAL 49 sl

A Brail Yl ol diswon A3 s-UR A%S sl2L W ?

(A) e daaioll eals’ (B) u~llald ued

(C) a1 (D) »ild e

e sl UsIR [Aseuniadl aal. A3 Sl — 691431 U Wl &l

(A) Guw (B) 3us (C) uaRIuLL (D) lerg[d
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(21) i3 uerll sEa-l UsR el udl.  sEous iR gl Al

(A) Scadsed (B) eilamused (C) cidsed (D) addiised
(22) 2 2004 dnuel woed [@ve 3 Rseunid)l el ‘™uddl’
(A) 2l Gur ¢RAAL 014l (B) elMi 2AB GuR Avtaloll del ALl Avidl
(C) ™Rl P slradl (D) e Faloteld] 41lad
(23) 12 2uddl Avaii-l ugd weudal. 112, 122, 132, 152, 302
(A) 163 (B) 165 (C) 174 (D) sual -l
(24)  Awrdlas Avuo ealadl sdlAdd augAL S ?
(A) N (B) Z ©€) Q (D) R
(25) Az A8 2,7,12,17 4124 ue 49 ?
(A) 50 (B) 55 (C) 57 (D) 32

(26)  si@ol MM 40 [Qzndlxtl 214 60 [Qenel-l2il eioL & . ML Hiagls vzl 31.1200 a1y 9.
[endl-l2 vzl 409% 92 2iuail 2 t9e-tl w2l [Qeuelail a2 40 o119l adl dalrtl sl di 835
(Qendl2 3edl vial ysaaidl iy ?

(A) 3L.1700 (B) 3i.1850 (C) 31.1920 (D) 31. 1950

(27)  AsAl s Su-lni e3s A0 su-ll A0 Avl Fedl s10U0 £ HIEA 2L B, Al £ HBA g4 510U

31.1,22,500/- G121l Adl €l dl d $u-lii e 3edl Aedl ¢l ?

(A) 305 (B) 350 (C) 365 (D) 340
(28) AL A-L18% eld dl A:B =2 a2l [Aseu uris s3U.

A) 2:9 (B) 9:2 C 7:4 (D) 4:7
(29) 22,29, X,Y, 33, 37 «l 1312 30 &ld ol Al 54 3oH X 21 Y | vl ely a3 ?

(A) 22332 (B) 27 7 34 (C) 32 i 34 (D) 32 247 29
(30) 1399 x 1399 + Heu 32g il ?

(A) 19,57,201 (B) 19,47,201 (C) 19,37,201 (D) 19,27,201

(31) Read the following sentence and choose a suitable reporting verb used while transforming it into
indirect speech.

The fans said, "*Alas ! We have lost the match."

(A) Exclaimed with sorrow (B) Exclaimed with delight
(C) Exclaimed with happiness (D) Exclaimed with praise
(32) When | came to my cave, | ran inside it, as if | were..................
(A) chased (B) being chased (C) be chased (D) having chased
(33) Theywereall ........... the same way and all of them ............. beards of various shapes and colours.
(A) dress, have (B) dressed, have (C) dress, had (D) dressed, had
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(34)

(35)

(36)

37)

(38)

(39)

(40)

(41)

(42)

(43)

(44)

(45)

(46)

(47)

One day, when I was going towards my boat, | was surprised............. a footprint of a man on the
sand.
(A) saw (B) show (C) to see (D) showed

The words in the sentence below are jumbled.
"1 went the towards footprint large’ Rearrange the words to make a meaningful sentence and

choose the correct answer from below where the words are in order.

(A) | large went towards the footprint. (B) I went the footprint towards large.
(C) I went towards the large footprint. (D) I went the large footprint towards.
The old lady ................... I met in your house is my neighbor.
(A) who (B) whose (C) whom (D) that
....................... of the students is in the uniform.
A) all (B) some (C) each (D) every
The news of his arrival ............. received warmly on that day.
(A) is (B) are (C) was (D) were
e, My work thirty minutes back.
(A) Finishing (B) have finished (C) will finish (D) finish
Sweta is very good .................. English.
(A) for (B) in (C) about (D) of
ol A+B = 2C - C+D = 2A dl
(A) A+C=B+D (B) A+C=2D (C) A+D=B+C (D) A+C=2B
UM, Ui AU AVUBAAL ARAO ... 9.
(A) 28 (B) 30 (C) 32 (D) 34
14100 Al vier $4 ...oonnnnnnn.... 2[Qeior AL 9.
(A) 35 (B) 25 (C) 30 (D) 32
%1 ARl Al e
(A) 1 (B) -3 (€ 3 (D) 1

3
one who has lost his wife is called ..................
(A) widow (B) widower (C) husband (D) vidow
Brsial siSul oufdssierd Hid del sid Ayvisielidl 1Y sdi ......... wa 9 ?
(A) auR (B) 2iigg (C) %24 (D) »isuaL Al

3L. 3650 + 4% Avi 45 [zad 2w yed sed 19l ?
(A) 3L.3866 (B) 3..3688 (C) 3L. 3668 (D) 31. 3666
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(48)

(49)

(50)

(51)

(52)

(53)

(54)

(55)

(56)

(57)

(58)

(59)

(60)

(61)

(62)

(63)

4R otele] 2usldl oL Amddlal adoia A 2uls Hedu dedl gil asi ?

(A) 2 (B) 3 (C) 4 (D) 0
1,1,2,3,5,8,13,21, 34, ... d sl usix-l Asll o ?

(A) AHIdR (B) 2Lelidr (C) [amw (D) [Zoti-sl

760 A3l A4eHl 510 l3d (-2l oliell 93 ©9.360 »idew ol 43 8. di 32dl disl s5d Rl ol a3 ?
(A) 280 (B) 300 (C) 330 (D) 400

1@ =1,

(A) ad{ler (B) art 3l Hler (C) a~t3stHler (D) a-t (el e

100 2l 1000 Y#il-il isiHi easel e "1" 3edl auid 219 © ?
(A) 9 (B) 10 (C) 90 (D) 900

6f)os oLR1AAL GUULoL AL UUM 4L HURAlY glRL s2aUM 2l ?

(A) 5den (B) udeiz (C) esHd (D) gdlrd

25 24 10 km 2idx 12 {llemi 519 9. ol 34 10 km/hr gatscidi 20d dl 32dl uHy @ldl ?

(A) 14 min.30sec. (B) 15 min. 15 sec. (C) 15 min. (D) 14 min. 45 sec.
2ial [Busier 3 -l A9d ool vl sl dst L. PRETURS

(A) 2USAAA (B) usSAldRe

(C) SBaderd (D) U2 2idld SARAA

AULS1R], BrAS 0L AEdlL, Yol Qv

(A ar’ (B) ar’n (C) 2arh (D) 2ar
AAAmidl s34 AR @3U a2l 2.

(A) -adsul (B) -les (C) Alvln (D) &slaual
9oLl Gimiel AL MUH HicHsAUL 55 ?

(A) il eblsd (B) Acdril Mol (C) ousil ol (D) »isuaL gl
o AW AU A AL SAUL I 6lURRL 9 7

(A) yedl (B) [rRell (C) et (D) wgdlaBRd
e HURLS 56 Allsleus A glRL WL s 20 89 7

(A)  oLud ALlScd ALHL (B) il ulldcw wRve

(C) el AlEe 5184l (D) ol A3 uou

(1AL AU UL AoEAL A vl el U3 B ?

(A) 262 (B) 24x X (C) 24V (D) 20S

ol 25 Hlorvedl % 3R B, dl d HBAMHL 32l MR siy ?

(A) 4 (B) 5 () 6 (D) 3

"R WAL YouaRl a2 A4 dvaidl youal sl 20d 8" {lA-mizdl 56 sRllul 240 Ry woud 9 ?
(A) BDHLR (B) EIMQV (C) MPRUX (D) FIMRX
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(64)

(65)

(66)

(67)

(68)

(69)

(70)

(71)

(72)

(73)

(74)

(75)

(76)

(77)

{121 g2l SRAeIAAL S AR 2llsdl.

1) a5 2) 4 3) (el ¥) AR

(A) 1,2,3,4 B) 3,4,1,2 € 3,4,2,1 (D) 4,3,2,1
1AL AHSHL UL AoEAL A 2L Bl U 9 7

(A) [~ U4 (B) *Hoidaueild (C) uRious{l 4l (D) ®IRd 25 vy
515 v s13HL PAGE 4 3%7@ , SORE 1 8©9@ aviclii 241d dl d s134i PEAS 33 @wugl ?
(A) 3@©8 (B) 3@%9 (C) 3% @8 (D) 3@%8

ASIHL A3 w13t 583, " UG eisReAl HL HIRL AU AAUAL A1R]" 20 244 011 isUR A2 9l Aoie w9l ?
(A) M-8 ag  (B) sisi—obllatag (C) 2wl eiAdl (D) A5yl A1l

L5 Ul 2AldAl 51 2410 14 ML 241 wiesnell 41 HL 6. ol AL aolui Jeal [Qeuell el ?

(A) 52 (B) 54 (C) 55 (D) 56
215 ALSsA U U000 2l 19 BeliHlead 2id 51U 9 di d 1ssadl Wil Brosul 3ear A wiy ?
(A) 90 (B) 34 (C) 19.v (D) 1¥o

25 e1RUL AXA s1ofl ougdl 12 1isH . Rav amell ellogell 19 His% 9. ol e Aed—oled Ad, dl

%9 310fl ouogall 21 MisH A B dl SIRHL $a 32dl 1915 ¢l ?

(A) 40 (B) 50 (C) 52 (D) 39

%11 =25 SUN =27 ¢ld, dil CAT = ..............

(A) 24 (B) 27 (C) 57 (D) 38
(Astid : 28 sl axdl s oo

(A) 10 %+ (B) 11 %causS (C) 5% (D) 5w

1) suRu R, 2) dedls AR, 3) Amir d, ¥) A %, ) R,

GURAL Wi [Aseuin dHAL dlEs suul ousasl s

(A) 521,34 (B) 53,2,14 (C) 5,3,2,4,1 (D) 5,2,4,3,1
COMPENSATION s16¢ uzel 315 2108 oi-{l a3 <A d 54l ?

(A) NAME (B) MATE (C) STATION (D) SENATION
AHIRL ALSAHL i A8 Al w2 © dl dlsHul ga 3edl ulbduil ¢l ?

(A) 17 (B) 18 (C) 15 (D) 16

2idew youail Sl 'ABCD.......... Z' Mi 2ifam youardl sioll dzs 18 wi youa+{l smslongt viaHl

HolgR 54169 7

(A) C (B) M (O N (D) O
yuled AMA dHIRL 39l 56 [Baumi e ?
(A) Gar (B) claw (C) uBay (D) yd

Page 6 of 8



(78) 15 20122 1947 - [Rad sl AR 89 ?

(A) AMAR (B) *Hamar (C) ysaR (D) “adlR
(79) R LS Rt youell yoll wul o an ?
(A) ollw (B) oid~ (C) 51 (D) 8l
(80) [2edlell 212l 23:50 (Ssudt 2e1e3$ 2154) Aldl Gulg, @I 8 setls Ul i Gl & UL, il 3edi
ALYl el ?
(A) 7:50 (B) 15:50 (C) 2:20 (D) 3:30
(81) =12t {12411 6L Hidl €9 vt A Yol 6. uuil A1l il 041 2uadl 2Alell {4l 20{1Hl st21 .
(A) elel (B) Wil (C) Hidll (D) yoll
(82) L AR OUMS' QUHIIA "FOLE’ 0L AL iS5 ALSIA 'Flog" viel (B A 'olu3H sSaAlMl 2 dl $8L 5UL S
Q7
(A) % (B) sl (C) 2usg (D) uer
(83) 23231, 34342, 45453, ............ ?
(A) 65657 (B) 56564 (C) 98988 (D) 76768
(84)  qati-ll 25 siaui A5 qat-ll s1ofl ougell 7 3 6. i awll ougell 14 3 9. dl sU0uni 3eal gail 2.
(A) 18 (B) 19 (C) 20 (D) 21
(85)  uis ulRWNA e e [AH2 215 BiFe ves1dl e, dl BHe A siet alRdions 215 25 43 s2di 3edl MHe
1ol
(A) 69 (B) 66 (C) 70 (D) 65
(86) A2xdABoddld. CoHuDAMSS. Ayl DD, di Bl Cud suloia .
(A) ucll (B) i3+t (C) (D) 5.4l
(87) AABABCABCDABCD............ 2l yal 2.
A) A (B) F ) E (D) D
(88)  ~{l3A 214 2108 UML sUL A0t ollogt A2 Al 4G U3 9 d gLl ?
(A) deR (B) 3ldaR (C) il (D) YaAR

(89) s A1uset AR Yd [BHI 5 Kkm 2id2 51U 9, iRelle d sEel [Baml 12 Km vid 519 8. v 014sd AR
s3¢ R2l-idd yeu seg ?
(A) 17 km (B) 13 km (C) 7 km (D)

(90) ol s MBIl ALAHL (B UsAIR 5L 2181 [BAd Al AR &ld, dl d {8+l 19 Ml [2a sdl el ?
(A) [aar (B) uMaR (C) slaaR (D) YsaR

(91) s uRARHL 215 Y3n 24 drfl U], dMi AR (85 24 duel uedl2Al 8 8. 835 [2517 218 (2521 21
25 (253 iy, ol 1A sEo1ul Y™ AL Avul audl.
(A) 4 (B) 8 (C) 12 (D) 17
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(92)

(93)

(94)

(95)

(96)

(97)

(98)

(99)

(100)

At 28l yoror AL GHR XIX Al 9. 2t detl Sl GHR XXTV arl 8. dl ddl G-l udiol sedl

>y ?

(A) XLIV (B) XXIV (C) XL (D) XLVI
dioy [Asey ule s? vuedl ouiyrl.  2,A,9,B,6,C, 13,D, .......

(A) 9 (B) 10 (C) 12 (D) 19

Qo : i’ el A8l urie s
(A) doiza:@Qsel  (B) B (C) AR : dotAlA (D) [(godoss : vl
d¥ G2 dzs oS Ml avlld gl s30ell ol aofla 316l ds a0l ol e di 56 [ el ?

(A) Gz (B) ud (C) eallal (D) uBan
(121 Hiell 54 YU A U B ?

(A) wdd (B) aleHle: (C) dle: (D) w
999999999° x 999999999° = ?

(A) 1 (B) 999999999 © 0 (D) 2trid

ofl AUHI LA clgsl, dlgsia [real, [yeaint A, AU 291 i 24 [z sl 20 dl {Amidl

HelRIM 9 9 ?

(A) dgsl (B) =u (C) Rud (D) [Byeal
215 HLeRA YdHi 6 Hlez a1, R olle slBRHl 8 Hler Aledl ¢d d drl Aldaldi el dedl Hle g2 ¢ ?
(A) 2 (B) 8 (C) 10 (D) 14
BF:DH:PS:...... ?
(A) SU (B) SV (C) RV (D) RU

WESH
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waA s, [R»

E
. Yed suaell s A2Alldd .
AH, A, Gl 1AL U3 A3 1A slAY—%rdLe
dllu : ¢ jooRORY AU so (AfAe $4.918L 1 100

allaR salf (a0/—3) walds ulRal

= UAAS U2l GaR A, B, C 244 D U4l 415 315 ® i, GALAUR ol Lol Byl 4 Hidldl 1Y dl dxell W2 [@Qsey
E Garwotdii x4 9.

= UAs AR wU €ls, vudl 913e FUELS dal 95918 dal vl wgladll Bs sl ag Asey salda saedls
0.25 3USHA AR S1uUMl 2Ual. UTg %1 GREAR A6l UYL HidldL L i1 A [Aseu E 315 54 ol 0.25
98l Syl 20aQ A,

= Andd et ulRidla Yot A wel A :
(RuRnosastl il x 1 — {(vieL gaetll v x 0.25) + (vuell 9i3d el Aval x 0.25) + (D915 3 As
sl ag [Asey ealdd oauei vl x 0.25)} = GAgaRA Uk Adi 8L,

1)

(2)

3)

4)

()

(6)

(7)

(8)

el Wil 3[RUUIDLAL [Aseu Urie 5.

(A) ue sl g (B) Ueelofln g (C) ueni 221 Gsdl (D) ueuedle %9
(A U [Qgd’ woe-dl [ A qHi-uel 2o [ woel sul | suL e ?

) Baddg ) erg 3) ol ¥) el

(A) MLl (B) M1t 142 (C) A 22+ 4 (D) 1ot 3 21 4
Ral' [Bey 56 Adasal 2R ondl © ?

(A) deanA (B) Al edl ¥z (C) uRsHL el Hui-ll (D) (3012 2t 213l
Bl 208 W2 AL AL [Aseu U 5.

(A) g +qu (B) ga+ g (C) ga + qw (D) aa +dw
081 (deie) ogaudl. "l

(A) &1 (B) sRdoux (C) uMLcL (D) 2avilA el
olUell (B sl 254 AL 2468l & dedll 254 vRletR M2 ...l ERETON

(A) sl (B) vz (C) yal5ud (D) andz

NN

215 ULSY 6 selsHl 208l MR 2t ol s 12 setisHi 2isl viel 530 643 © dl oA WS 218 AHA vidalHi
2119 dl 2l5l sU12 *1Y ?

(A) 10 sdlsHl (B) 12 sdisHi (C) 14 saisml (D) 16 scisui
il 5 Hlex vt G 10 Hler grlddl Bisiend &stsn g iy ?

(A) 20 .. (B) 35l (C) 251.4l. (D) 40 «L.Ml.
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©)

(10)

1)

(12)

(13)

(14)

(15)

(16)

(17)

(18)

(19)

(20)

(21)

AN AL a8 4T Alsue sHRL 3UidR g U9l ?

(A) UM A3 AAR-AL 48 5L (B) uH usl ARl a8 A 9.

(C) Rlagi-l ag AX sul (D) UH AL 48 sl

weysiele 9ol AUBAUAL iAn s[A 512 ?

(A) il (B) sulRIM (C) i (D) cuas

13 2uhe dauel woed R 34 [RseuHidl idl. ‘eudal’

(A) 2 Gur ¢RAdL 3014l (B) AellMi 2AB GuR Avtaloll del ALl Avidl
(C) SRl P slRadl (D) i Faloteldl 4R1ad

A1 s [BL Al Aol dlsanol 93 s U%S slaL e ?

(A) el daioll eals’ (B) u~llald ued

(C) alRald 13yl (D) %ld ecid

M SRl USIR [Ascunial alial. A3l — 69143l 4 UL Sdl.

(A) Gual (B) 3us (C) uaRIuEl (D) ues=dld

Wil uerll 8l wsi2 el mual.  sqeus AR il el

(A) Scaddsed (B) ~Hlamsed (C) cidsEd (D) admirised

Read the following sentence and choose a suitable reporting verb used while transforming it into
indirect speech.

The fans said, "*Alas ! We have lost the match.""

(A) Exclaimed with sorrow (B) Exclaimed with delight

(C) Exclaimed with happiness (D) Exclaimed with praise

When | came to my cave, | ran inside it, as if | were..................

(A) chased (B) being chased (C) be chased (D) having chased
They were all ........... the same way and all of them ............. beards of various shapes and colours.
(A) dress, have (B) dressed, have (C) dress, had (D) dressed, had
{12 20l vl A ecual. 112, 122, 132, 152, 302

(A) 163 (B) 165 (C) 174 (D) Bisunt -l
ARdAs Avaare saldadl s4lAdd quAL D ?

(A) N (B) Z © Q (D) R

AU el 2, 7,12, 17 4 123 ue s4 0 7

(A) 50 (B) 55 (C) 57 (D) 32

sldol uenui 40 [Qenelatl 44 60 Qe ¢l A . uaiistl {iaigls Wl 31.1200 @ ©.
[euel-latia vadui 40% 92 2AuaAl 29 92l Wl [Qenedlil 422 429 e1dl adf]l dal-dl ld dl e3s
[euellat 3eal wal ysaadl wiy ?

(A) 311700 (B) 3. 1850 (C) 31. 1920 (D) 3i. 1950
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(22)

(23)

(24)

(25)

(26)

(27)

(28)

(29)

(30)

(31)

(32)

(33)

(34)

(35)

(36)

Al s Su-dlui e3s uod Su-l-l ueu v Fedl s1oll e HRA U D, %l e H_A sa sl

31.1,22,500/- G121l Ul 14 ol A Su-{lHi s 3edl Aol 2l ?

(A) 305 (B) 350 (C) 365 (D) 340

ol A+l 18% sld dl A:B = ? 20l [Aseu wiie 5.

(A) 2:9 (B) 9:2 (C) 7:4 (D) 4:7
22,29, X,Y, 33, 37 -l 43212 30 el di Al 53 3ou X 2 Y Al vl iy ad ?

(A) 22432 (B) 27 4 34 (C) 32 7 34 (D) 327 29
1399 x 1399 o yeu seq sal ?

(A) 19,57,201 (B) 19,47,201 (C) 19,37,201 (D) 19,27,201
3. 3650 +i 4% @l 45 [Baud el Yed seq ul ?

(A) 3L. 3866 (B) 3L.3688 (C) 3L. 3668 (D) 3L. 3666
YR otelel 2usldl ot Audeldl adonin A= 2uls HedH Sedl el asiu ?

(A) 2 (B) 3 (C) 4 (D) 0
1,1,2,3,5,8,13,21, 34, ... d st usix-l Al o ?

(A) AHidR (B) 3uBlidr (C) [amuy (D) [(Zoti-usl

760 d[3cril A4eHi 510 u3d (-2l olicdl 23 ©.360 »idw oldl A3 8. dl 32dl disl $5d [&-2l otiell 93 ?
(A) 280 (B) 300 (C) 330 (D) 400

1@ =1,

(A) a-dleR (B) a3l Hle: (C) ast3s1ler (D) u- (Bdl Hlex
2l BrsigL 3 -l »18iu ool uvfl gldan ... PRETRR S

(A) 5 (B) usSAldRe

(C) dBaderd (D) U2 o uSHlAG

LS, BrS0L AEdle, Yol Qv

(A ar’ (B) ar’n (C) 2arh (D) 2ar
A1 53 AR 243U Al ],

(A) -adsul (B) -ues (C) Alvl- (D) &slaudl
9oLl Gimiel AL MUH HicHsAUL 55 ?

(A) 3 eslsd (B) Acdril Muldll (C) oitril vy (D) A5 Al
o AW AU AL SAUL e 6lU1RRL 9 7

(A) yl (B) [wiRell (C) Helsiwdl (D) wgalaBlda
e HIRLS 59 Alls[cds AL gL SR sAUHL 20 © ?

(A)  oRud ALlScd ALHL (B) Ul ulldcd uRme

(C) Axudl Al w5183l (D) 516l ALl AL
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(37)

(38)

(39)

(40)

(41)

(42)

(43)

(44)

(45)

(46)

(47)

(48)

(49)

(50)

100 L 1000 yell-tl 2isi4i a5l e "1" 3edl quid 209 & ?
(A) 9 (B) 10 (C) 90 (D) 900

o) oLR1AAL GUuUloL AL UUM 4L HURAlY gl SALML 2l ?

(A) 5den (B) dei2 (C) esHLd (D) gl

2527 10 km 2idx 12 H{llemi 14 9. %1 334 10 km/hr st 249 di Sedl uHy @dl ?

(A) 14 min.30sec. (B) 15 min. 15 sec. (C) 15 min. (D) 14 min. 45 sec.
one who has lost his wife is called ..................

(A) widow (B) widower (C) husband (D) vidow

The old lady ................... I met in your house is my neighbor.

(A) who (B) whose (C) whom (D) that
....................... of the students is in the uniform.

A) all (B) some (C) each (D) every

The news of his arrival ............. received warmly on that day.

(A) is (B) are (C) was (D) were
TR My work thirty minutes back.

(A) Finishing (B) have finished (C) will finish (D) finish

Sweta is very good .................. English.

(A) for (B) in (C) about (D) of

One day, when | was going towards my boat, | was surprised............. a footprint of a man on the
sand.

(A) saw (B) show (C) to see (D) showed

The words in the sentence below are jumbled.
"I went the towards footprint large' Rearrange the words to make a meaningful sentence and

choose the correct answer from below where the words are in order.

(A) 1 large went towards the footprint. (B) 1 went the footprint towards large.
(C) 1 went towards the large footprint. (D) I went the large footprint towards.
"Don'tyou .......... ?," replied the wise bird.

(A) saw (B) see (C) has seen (D) to see

choose correct synonym for 'generous'.

(A) Sagacious (B) Inquisitive (C) Altruistic (D) Intrepid
choose the option which describes the closest meaning for the given expression.

"One who is bad at spellings."

(A) Humdrum (B) Cacographer (C) Orthographer (D) Polymath
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(51)

(52)

(53)

(54)

(55)

(56)

(57)

(58)

(59)

(60)

(61)

(62)

Study the following sentences and choose proper analysis given below them.
1. Rajesh seldom watches TV.
2. Bumrah bowls swiftly.

(A) 1 has adverb of frequency while 2 has adverb of manner.

(B) 1 has adverb of manner while 2 has adverb of frequency.

(C) 1 has adverb of reason while 2 has no adverb.

(D) 1 and 2 both have adverb of manner.

%L A+B =2C - C+D = 2A dl

(A) A+C=B+D (B) A+C=2D (C) A+D=B+C (D) A+C=2B
U Ui AU AVUDAALARAL ... ...l 9.
(A) 28 (B) 30 (C) 32 (D) 34
14100 Al vier g4 ..ooonnnnnnnn... §[Qeur AVl Y.
(A) 35 (B) 25 (C) 30 (D) 32
‘?1 A RIS
(A) 1 (B) -3 €3 (D)1
3
(1AL AR UL SUL AoEAL A vl Bl U3 B ?
(A) 262 (B) 24 x X (C) 24V (D) 20S
ofl 25 Hlorvedl 2% 3R 8, dl o HB-AUHL 32l UHAR siy ?
(A) 4 (B) 5 (C) 6 (D) 3
"W WAL YoOUARL a2 A4 AvaiHl youaRl il 0d 8" HlA-umidl 56 Aellui 240 Ry youd 9 ?
(A) BDHLR (B) EIMQV (C) MPRUX (D) FIMRX
{12 B2l SAeAALSH 204A1R Ll
1) 1ds ) A 3) [Rael ¥) AR
A) 1,2,3,4 (B) 3,4,1,2 ©) 3,4,2,1 (D) 4,3,2,1
Brsial siSul oufdssierd Hiv del vid Aqvisieliql 1Y sdi ......... HaL e ?
(A) auR (B) 2iigg (C) %24 (D) »isuaL gl

392 4 9 | 2aAEud 211 9 | s BHdAl dslad Sedl a ?
(A) 81 (B) 89 (C) 90 (D) 99

121 +121 +121 ?
2 3 6

(A) 36 (B) 37 (C) 39 (D) 38
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(63)

(64)

(65)

(66)

(67)

(68)

(69)

(70)

(71)

(72)

(73)

(74)

(75)

(76)

(77)

N

A A5 UMl 175 115U 1oL oA d 35 Hisd ol i 2l ol YRlaiml wa aal M 35% HiSA
Hoaal %330 el dl uFlauml HedH sedl 1Sy e ?

(A) 750 (B) 700 (C) 650 (D) 600
3L. 300 Hi wl€l 53 ad 20% sl Aodal 32al 3Rl dadl vl ?
(A) 300 (B) 360 (C) 400 (D) 460

qati-ll 315 sAAHL A5 qael siofl ougell 7 3 8. 2 il ougell 14 3 9. dl sioumi 3edl gail sl
(A) 18 (B) 19 (C) 20 (D) 21
215 qRU10A €2 e B2 218 [MRe 2esidl £S5, di [MRe A sietn alRaiod 2is 245 Y3 sdi sedl MRe

Aldl.

(A) 69 (B) 66 (C) 70 (D) 65
A2ABodl®d. CAD AT . Al y(l D . di B+l C 18 sul 2ivia 0.

(A) ucll (B) oléd (C) Al (D) 514
AABABCABCDABCD............ A9(l ol s21.

Aa) A (B) F ) E (D) D
{12 210a 2108 oAUl sUl 208 ol 218 Yl a0l U3 B o Rl ?

(A) 48R (B) 318a2 (C) -l (D) AR
Yuled UMY dHIRL U39l 56 [Baumi ed ?

(A) G (B) eléw (C) uBan (D) ud

15 >tiorre 1947 L [ 54l R ¢l ?

(A) AMAR (B) *Hamar (C) ysarR (D) eaaR
HIRL S1SHAL il Youedl Yol izl g i ?

(A) ool (B) ol (C) 818 (D) el

ofl AR OUHS" OUHILA 'FIA’ FOL A "I AULSIA 'Flog" A (B AL 'olaAIH sSAML U dl 6L 5UL

&7

(A) %N (B) sl (C) 2usg (D) uer
23231, 34342, 45453, ............ ?

(A) 65657 (B) 56564 (C) 98988 (D) 76768
Yoy [Aseu uie st vuddl aulyrl.  2,A,9,B,6,C, 13,D, .......

(A) 9 (B) 10 (C) 12 (D) 19

‘qd o s i’ Foll il urie s3U.

(A) doiza:@Qsel  (B) B (C) AR : dopl (D) [gous : vl
A¥ GaR ds o w8l QollA uedl 5312l ol aollat s1ofl s QoL ol 8d diL 565 [Baumi ol ?

(A) GaR (B) yd (C) e&llal (D) uBan
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(78)

(79)

(80)

(81)

(82)

(83)

(84)

(85)

(86)

(87)

(88)

(89)

(90)

[Bedlell A 23:50 (Ssun 221w 218) adl Guid, [RAxIr 8 scls uedl ds-i B & R, il beal

ALyl 89l ?

(A) 7:50 (B) 15:50 (C) 2:20 (D) 3:30
AR {121 6L Hidl © 2471 6L Yol ©. Azl A1 ALl 200l 0L A1 11l 201 512 9.
(A) elel (B) Wil (C) Hidll (D) yoll
(1AL Hiell 55 YU AU B ?

(A) udd (B) alreler (C) dlez (D)
999999999° x 999999999° = ?

(A) 1 (B) 999999999 (C) 0 (D) 2t~id

N N

ofl AUHIIA Al sl, dlgsial [Preel, [eala o, AU 29 244 2 [A22 s&aMi 2414 dl {lAHigl)

HelRIN 969 7

(A) dgsl (B) =u (C) Rud (D) [Byeal

215 HLeRA YdHi 6 Hlez a1, R olle slBRHl 8 Hler Aledl ¢d d drl Aldaldi el dedl Hle g2 ¢ ?
A) 2 (B) 8 (C) 10 (D) 14
BF:DH:PS:..... ?

(A) SU (B) SV (C) RV (D) RU

5 AUSA AR Y [BWHL 5 km 2idR s1U 69, lRells d slBel [BaHi 12 km 2id st 6. 241 1454 AR
s3¢ 2l-idd yeu seg ?

(A) 17 km (B) 13 km (C) 7 km (D) a4

ofl 215 H[ReAledl AldHL (B LsAUR 5l 218 (B Addl AR Sl dl d W&l 19 L [Ba sul eld ?

(A) [ar (B) AR (C) saaR (D) YsaAR

215 URARHL 215 Y3 24 dfl Uerdl, duei 1R [B531 24 duel uedladl 28 8. 835 [Bs1A 2181 (2521 21
25 (2530 S, dl A4A gEo1HI Y3u Ui+l vy ol

(A) 4 (B) 8 (C) 12 (D) 17

A 2ist oot 9L Gu XIX arl 9. 2 dl eudl Gz XXIV arl 8. dl du-l G-l uaial 3edl
Y ?

(A) XLIV (B) XXIV (C) XL (D) XLVI

1) suRu R, 2) dedls AR, 3) wmr A, ¥) ¢l o, u) éRau.

GYL Wi [Qseuia dxHl dilEs sHHiousasll si.

(A) 5|2’1|3’4 (B) 5’312’114 (C) 513’214’1 (D) 512’413’1
COMPENSATION 216t w8l a5 208 o+l 93 -3 a 54l ?
(A) NAME (B) MATE (C) STATION (D) SENATION
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(91)

(92)

(93)

(94)

(95)

(96)

(97)

(98)

(99)

(100)

AL ALSHHL oA dR8 AdHL oR € dl a3l sa Sedl U3l ¢dl ?

(A) 17 (B) 18 (C) 15 (D) 16

21 youari-l Sl 'ABCD.......... Z' 4i 2ifam youardl sioll dzs 18 wi youa+{l amslonogi uiaHl
Yo&R sUL Y 7

(A) C (B) M (C) N (D) O

ASIHL A3 w13t 583, " UG eisReAl {1 HIRL AU AAUAL A1) 20 244 011 isUR A2 9l Aoie w9l ?
(A) M-8 ag  (B) sisi—obllaotag (C) 2wl eiAdl (D) A5y Al

315 Qi vlaAl sH 2Ll 14 1l 219 wiesnll 41 Hi 6. dl @i gl Jeal [Qeuelql e ?

(A) 52 (B) 54 (C) 55 (D) 56
25 AlSsasd UG U000 il 14 Ballezd 2id 51U 9 dl d A1Ssadl Uil Brosun Seal A 2y ?
(A) 90 (B) 3u (C) 10.u (D) 1¥o

215 SIRHL AKX 310{l ologel 12 Mi 53 ©9. Ran omell ologell 19 1isH 9. ol 21 Hed—oled UM, dl
U2l 316fl ouogall 21 MisH A D dl SIRHL s Sedl 9isU ¢l ?
(A) 40 (B) 50 (C) 52 (D) 39

(1AL AU 5UL AoEAL A vl el U3 B ?

(A) [+ 24 (B) *Hoidueid (C) u=iou-l 24l (D) ®Rd 25 vy

515 v 5134 PAGE 4 3%7@ , SORE 4 8©9@ aviali »1d di d sisMi PEAS 33 qual ?

(A) 3@©8 (B) 3@%9 (C) 3% @8 (D) 3@%8

ol 1 =25, SUN =27 ¢ld, di CAT = ...............

(A) 24 (B) 27 (C) 57 (D) 38

(Astid : 28 sl axdl: o

(A) 10 %~ (B) 11 e (C) 5o (D) 5ewR
255U
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M M GHODASARA MAHILA ARTS & COMMERCE COLLEGE - JUNAGADH

PRIMARY EXAM

JUNIOR CLERK CLASS - 3

Exam Date : 28/07/2024

PROVISIONAL ANSWER KEY

Question Paper Series - A

NO. [ANSWER | Q.NO. [ ANSWER | Q.NO. [ ANSWER | Q.NO. [ ANSWER
1 B 26 D 51 C 76 A
2 A 27 C 52 C 77 B
3 D 28 B 53 B 78 C
4 C 29 C 54 B 79 A
5 B 30 C 55 B 80 B
6 A 31 B 56 A 81 D
7 B 32 B 57 C 82 B
8 D 33 B 58 B 83 D
9 B 34 C 59 D 84 B
10 A 35 D 60 D 85 C
11 B 36 C 61 B 86 A
12 D 37 A 62 C 87 A
13 D 38 B 63 B 88 C
14 A 39 D 64 C 89 D
15 B 40 D 65 C 90 B
16 B 41 B 66 B 91 A
17 A 42 C 67 D 92 B
18 C 43 B 68 D 93 B
19 D 44 A 69 C 94 A
20 C 45 A 70 C 95 D
21 B 46 B 71 B 96 B
22 C 47 D 72 B 97 C
23 C 48 C 73 A 98 A
24 C 49 C 74 A 99 A
25 B 50 C 75 A 100 B




M M GHODASARA MAHILA ARTS & COMMERCE COLLEGE - JUNAGADH

PRIMARY EXAM

JUNIOR CLERK CLASS - 3

Exam Date : 28/07/2024

PROVISIONAL ANSWER KEY

Question Paper Series - B

NO. [ANSWER | Q.NO. [ ANSWER | Q.NO. [ ANSWER | Q.NO. [ ANSWER
1 A 26 B 51 D 76 C
2 A 27 A 52 D 77 D
3 C 28 B 53 B 78 C
4 D 29 D 54 C 79 C
5 B 30 D 55 B 80 C
6 A 31 A 56 C 81 B
7 B 32 B 57 B 82 D
8 B 33 B 58 A 83 D
9 A 34 A 59 B 84 C
10 D 35 C 60 D 85 C
11 B 36 B 61 C 86 D
12 C 37 A 62 B 87 B
13 A 38 D 63 C 88 D
14 A 39 D 64 C 89 B
15 B 40 C 65 C 90 C
16 A 41 B 66 B 91 A
17 B 42 C 67 C 92 A
18 D 43 B 68 C 93 A
19 D 44 D 69 B 94 A
20 B 45 C 70 B 95 B
21 C 46 C 71 B 96 B
22 B 47 C 72 C 97 B
23 A 48 A 73 B 98 C
24 A 49 C 74 B 99 A
25 D 50 B 75 B 100 B
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Question Paper Series - C

NO. [ANSWER | Q.NO. [ ANSWER | Q.NO. [ ANSWER | Q.NO. [ ANSWER
1 B 26 A 51 C 76 C
2 A 27 B 52 B 77 B
3 B 28 B 53 B 78 D
4 D 29 D 54 C 79 C
5 D 30 D 55 C 80 B
6 A 31 B 56 D 81 B
7 A 32 C 57 C 82 B
8 B 33 B 58 A 83 C
9 D 34 B 59 B 84 A
10 C 35 B 60 B 85 D
11 C 36 A 61 B 86 B
12 C 37 B 62 C 87 C
13 A 38 C 63 D 88 B
14 A 39 C 64 C 89 D
15 A 40 B 65 B 90 B
16 B 41 A 66 C 91 A
17 B 42 D 67 D 92 A
18 C 43 C 68 C 93 A
19 D 44 B 69 B 94 A
20 B 45 A 70 D 95 D
21 A 46 B 71 A 96 C
22 D 47 B 72 C 97 B
23 B 48 A 73 B 98 C
24 C 49 C 74 D 99 B
25 A 50 C 75 D 100 C
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Question Paper Series - D

NO. [ANSWER | Q.NO. [ ANSWER | Q.NO. [ ANSWER | Q.NO. [ ANSWER
1 B 26 C 51 B 76 C
2 C 27 B 52 C 77 D
3 B 28 B 53 B 78 C
4 A 29 A 54 C 79 B
5 A 30 A 55 C 80 C
6 B 31 A 56 B 81 B
7 B 32 B 57 C 82 B
8 A 33 D 58 A 83 B
9 D 34 C 59 A 84 C
10 B 35 C 60 B 85 D
11 A 36 C 61 D 86 C
12 B 37 C 62 B 87 C
13 D 38 C 63 A 88 B
14 B 39 B 64 B 89 B
15 D 40 B 65 D 90 A
16 B 41 A 66 D 91 D
17 C 42 A 67 A 92 C
18 A 43 B 68 B 93 B
19 A 44 C 69 B 94 A
20 C 45 B 70 D 95 B
21 D 46 A 71 C 96 C
22 B 47 C 72 B 97 A
23 D 48 B 73 C 98 B
24 D 49 D 74 C 99 D
25 C 50 D 75 A 100 D




M M GHODASARA MAHILA ARTS & COMMERCE COLLEGE - JUNAGADH

PRIMARY EXAM

JUNIOR CLERK CLASS - 3

Exam Date : 28/07/2024

PROVISIONAL ANSWER KEY

Question Paper Series - E

NO. [ANSWER | Q.NO. [ ANSWER | Q.NO. [ ANSWER | Q.NO. [ ANSWER
1 B 26 51 A 76 A
2 B 27 B 52 A 77 B
3 A 28 D 53 A 78 C
4 D 29 D 54 B 79 B
5 A 30 B 55 C 80 C
6 D 31 C 56 D 81 A
7 B 32 B 57 B 82 B
8 C 33 C 58 A 83 D
9 A 34 A 59 B 84 D
10 B 35 A 60 A 85 B
11 B 36 B 61 A 86 A
12 A 37 C 62 B 87 D
13 C 38 B 63 D 88 C
14 D 39 C 64 B 89 C
15 A 40 B 65 C 90 C
16 B 41 C 66 D 91 A
17 D 42 C 67 C 92 C
18 D 43 C 68 C 93 A
19 D 44 B 69 B 94 B
20 C 45 B 70 D 95 B
21 C 46 C 71 C 96 D
22 B 47 C 72 B 97 D
23 B 48 B 73 B 98 D
24 A 49 C 74 B 99 C
25 A 50 B 75 B 100 B
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